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Question Number : 1 Question Id : 92775913599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The series is given, with one term missing. Choose amongst the given responses and complete the series.

EKFA, GKHA, IKJA,?, MKNA
Options :

1. ¥ KKLA

2. % QKPA

3. # KKMA

4. % IKMA

Question Number : 1 Question Id : 92775913599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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EKFA, GKHA, IKJA,?, MKNA
Options :

1. ¥ KKLA

2. % QKPA

3. ¥ KKMA

4. % IKMA

Question Number : 2 Question Id : 92775913600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What comes in place of question mark (?) in the following letter series?

FfGg, EeFf, DdEe, ?, BbCc
Options :

1. # ccDe

2. % AacC

3. % DcCD

4. ¥ CcDd

Question Number : 2 Question Id : 92775913600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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FfGg, EeFf, DdEe, ?, BbCc
Options :

1. # ccDc

2. % AacC

3. % DcCD



4. % CcDd

Question Number : 3 Question Id : 92775913601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter in the series.

A,CFEJ0O,?
Options :
1.* S
2.%Q

3. U

4. %= W

Question Number : 3 Question Id : 92775913601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e famedl & 9, 90t & g 31eR 1d S|

A,CFEJO,?
Options :
l1.* S
2.%Q
3.U

4. % W

Question Number : 4 Question Id : 92775913602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letters in the series when placed from left to right.

a__yta x tab_ t
Options :



1. * bxxyxy
2. ¥ bxbyxy
3. * bxyyxy
4. % bxbyxb

Question Number : 4 Question Id : 92775913602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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a__yta x tab_ t
Options :

1. #® bxxyxy

2. ¥ bxbyxy

3. % bxyyxy

4. % bxbyxb

Question Number : 5 Question Id : 92775913603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

KDF : PNU :: NJK : ?
Options :
1. # RUY
2.¥ STZ
3. % QTY
4. % TZY

Question Number : 5 Question Id : 92775913603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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KDF : PNU :: NJK : ?

Options :

1. # RUY

2. ¥ STZ

3. % QTY

4. ¥ TZY

Question Number : 6 Question Id : 92775913604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

YAWC : UESG :: QIOK : ?
Options :

1. # KOME

2. % MINC

3. ¥ MIKE

4. ¥ MMKO

Question Number : 6 Question Id : 92775913604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few 7T fasredl # § TR s1ari o1 7g Sifo |
YAWC : UESG :: QIOK : ?

Options :

1. #* KOME

2. % MINC

3. % MIKE

4. ¥ MMKO



Question Number : 7 Question Id : 92775913605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related word from the given alternatives.

Water: Hydrogen oxide :: ? : Sodium bicarbonate
Options :

1. # Vinegar

2. % Common salt

3. % Baking soda

4. % Limestone

Question Number : 7 Question Id : 92775913605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % foR RRen)
2. % YIYRU HHDH
3. ¢ SfdbT e

4. % FATIRR

Question Number : 8 Question Id : 92775913606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related numbers from the given alternatives.

TTT:777::RRR :?
Options :
1. # 555
2. # 666



3. # 888
4. % 999

Question Number : 8 Question Id : 92775913606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. #® 555

2. % 666

3. % 888

4.+ 999

Question Number : 9 Question Id : 92775913607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if ’'HARD TIME’ is coded as ’31 47°, then how will the word ‘FIX RATE’ be coded in that language?
Options :

1. % 3943

2. % 3743

3. % 3744

4. % 39 44

Question Number : 9 Question Id : 92775913607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T i3 Hied U &, IS 'HARD TIME' ®1'31 47' % &9 H Hicd o1 STl g, d ST HTST & 'FIX RATE' &I 9 Hicd fbar S
Options :

1. % 3943

2. % 3743




3. % 3744
4.4 3944

Question Number : 10 Question Id : 92775913608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 'Radius' is called 'Diameter’, 'Diameter' is called 'Circumference’, ‘Circumference' is called 'Volume' and 'Volume' is called ‘Perimeter', then
which of the following is longest distance between two points on circle?

Options :

1. ¥ Circumference
2. * Volume

3. * Perimeter

4. % Diameter

Question Number : 10 Question Id : 92775913608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ ORfY

2. = JHdd

3. % gRAM™

4, % MY

Question Number : 11 Question Id : 92775913609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘Cube of two is eight’ is written as ‘we me he de ne’, “What is the cube of two’ is written as ‘we me he de pe ke’,
“Two is a prime number’ is written as ‘me he ge le re’ and ‘Number eight is a cube’ is written as ‘we he ge re fe’.

What is the code for ‘Cube of a number is eight’?
Options :



1. ¥ We de ge re he fe
2. % We de me ne he fe
3. % We de le re he fe
4. % We de fe re he fe

Question Number : 11 Question Id : 92775913609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Aigd pcHNT ﬁ, ‘Cube of two is eight’ P ‘we me he de ne’ forar Srar %, “What is the cube of two’ @I ‘we me he de pe ke’ foran s %,
“Two is a prime number’ I ‘me he g le re’ foRAT SITAT § 3R “Number eight is a cube’ BT ‘we he ge re fe’ foRaT STAT B |

‘Cube of a number is eight’ & %I'Q el aTIT ?
Options :

1. ¥ We de ge re he fe

2. % We de me ne he fe

3. % We de le re he fe

4. # We de fe re he fe

Question Number : 12 Question Id : 92775913610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language ‘“TINY’ is written as ‘RGLW’ then how is ‘ZEBRA’ coded in that code language?
Options :

1. ¥ XCZYP

2. ¥ XCZPY

3. % XZCPY

4. ¥ X7ZCYP

Question Number : 12 Question Id : 92775913610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # XCZYP
2. ¥ XCZPY
3. % XZCPY
4. % XZCYP

Question Number : 13 Question Id : 92775913611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If “DIVIDE” is coded as “EHXGGB” in a certain language, then how will “MULTIPLY” be coded in the same language?
Options :

1. ¥ NPYIXIPTPU

2. % NTNRLMPU

3. ¥ NTRNLPMU

4. ¥ NTRLMNPU

Question Number : 13 Question Id : 92775913611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopaft fAf3d B U &, “DIVIDE” &1 “EHXGGB” & U H foral STl g, dl 34 e HINT H, “MULTIPLY” &I fhd TR ferar e
Options :

1. % NPYIXIPTPU

2. ¥ NTNRLMPU

3. % NTRNLPMU

4. % NTRLMNPU

Question Number : 14 Question Id : 92775913612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six animals Elephant, Tiger, Bear, Lion, Dog and Cat are sitting on a bench facing north and discussing about a game. Tiger is sitting second to
the right of Dog, who is immediate to left of Bear. Neither Elephant nor Lion is on the either end. Cat is on the right end of the bench. Elephant is



third to the right of such an animal who is to the immediate right of dog?
Which of the following animal is third to the left of animal, who is at right end?

Options :

1. % Elephant
2. ¥ Tiger

3. # Dog

4. % Cat

Question Number : 14 Question Id : 92775913612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B SR BT, &9, W, TR, Hll iR Tt U ofd TR IR SR BT 3R T b 96 § 3R U [l IR 91 R 36 6 | 919, H1l &b ad
T IR I W I3T 7, 9N b W1 & Fidreadf a18 3R 93131 71 Y g1t 7 81 2R foredt 1 SR R 93 B et , 9 & qid ®R R 931 31 g1t
Y SR & &0 AR I WR 3 o fb Fa & Fopead! arif iR Ja1 8|

g H Y B I TR I TR & T3 T TR R R 981 8 o f S TR IR 9671 82

Options :
1. % gt
2.¥ dY
3. % ol
4. % foqei!

Question Number : 15 Question Id : 92775913613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six persons K, L, M, N, O and P are sitting around a table. K and L do not sit next to each other. O and P are opposite each other. M is siting to
the immediate right of P. K is not sitting between O and M and N is not next to P. Which of the following is an arrangement (in clockwise
direction) satisfying the conditions given above?

Options :

1. ¥ NKOLMP
2. % PKNOLM
3. ¥ LNOKMP
4. ¥ KMPNLO



Question Number : 15 Question Id : 92775913613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ NKOLMP

2. ¥ PKNOLM

3. ¥ LNOKMP

4. % KMPNLO

Question Number : 16 Question Id : 92775913614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The heights of A and B are equal. C is shorter than A, D is shorter than E, but taller than B. Who is the tallest of all ?
Options :

1.* D

2.%C

3. ¥E

4. % B

Question Number : 16 Question Id : 92775913614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TUTB & GaRA SRIER 81 C, A Y BICT §; D, E W Blel g, fhg B T a1 g1 S0 T Ad DI 82
Options :

l1.* D

2.% C

3. ¥E

4. % B




Question Number : 17 Question Id : 92775913615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q, R, S and T are five girls competing in a running race. R and P have at least two girls ahead of each of them. T and P do not have more than
one girl behind each of them. Who arrives at the finishing line after two girls as well as before two other girls, if no two girls finish the race at the
same time?

Options :
1. * Q
2.% S
3.¥R
4. % P

Question Number : 17 Question Id : 92775913615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Q

2. % S

3.% R

4. % p

Question Number : 18 Question Id : 92775913616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row of 39 persons, Jaya was 12th to the left of Raj, who was 12th from the right end.If Suresh is 8th from the left end and Farhan is exactly
between Jaya and Suresh, then what is Farhan's rank from the left end of the row. Assume people were standing facing the North.

Options :
1. % 1oth
2. % qqth



3. ¢ 2t
4. % 14th

Question Number : 18 Question Id : 92775913616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 104

2. % 114l

3. ¢ 1241

4. % 14d1

Question Number : 19 Question Id : 92775913617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even
if they seem to be at variance with the commonly known facts and then decide which of the given conclusions logically follows from the given
statements, disregarding commonly known facts.

Statements:

1. All bags are Radio.

2. All Radios are TV
Conclusions:

I. Some TV are bags.

II. Some Bags are Radios.

Options :

1. # Neither conclusion I nor II follows
2. # Either conclusion I or II follows

3. #¥ Only conclusion II follows

4. % Both conclusions follow



Question Number : 19 Question Id : 92775913617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 91 feed 1 3R A1 8 ey 11 SrRu R §
2. % gl sy 1 a1 FshY 11 SRR R §

3. % $Haq (IsHY 11 3IIRUI Bl §

4.« G fFpy TR0 Fvd §

Question Number : 20 Question Id : 92775913618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, below are three statements followed by four conclusions numbered I, II, III and IV. You have to take the given statements to be
true even if they seem to be at variance with the commonly known facts and then decide which of the given conclusions logically follows from
the given statements, disregarding commonly known facts.

Statements:

All questions are solutions.

No solutions is equations.

Some mathematical are equations.

Conclusions:
I. Some mathematical are questions.
II. Some mathematical are solutions.



III. Some questions are equations.
IV. No equation is questions.

Options :

1. % Only conclusion I follows
2. % Only conclusion III follows
3. % Only conclusion IV follows

4. # Only conclusion II and IV follows

Question Number : 20 Question Id : 92775913618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % had (IspY | TERU BT §

2. % Had 5HY 111 3IERU BT §

3. ¢ Had Y 1V IR0 a1 §

4. % Had (5B 11 R [V IR0 FRd &

General Ability2



Group Number : 2

Group Id : 927759524
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Ability2

Section Id : 927759560
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759695
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 92775913619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even
if they seem to be at variance with the commonly known facts and then decide which of the given conclusions logically follows from the given
statements, disregarding commonly known facts.

Statements:
I. All pens are pencils.
II. All pencils are tables.



Conclusions:
I. Some tables are pens.
II. Some pencils are tables.

Options :

1. # Only conclusion I follows
2. % Only conclusion II follows
3. ¥ Both conclusions follow

4. % Neither conclusion I nor conclusion II follows

Question Number : 21 Question Id : 92775913619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # $Had [T5HY [ 3IERV Hal §

2. % Had fHY 11 TR0 HT |

3. ¢ G FIhY IR a%d §

4. % 1A SB[ SR A1 S FIhY 11 SFIERUT el §

Question Number : 22 Question Id : 92775913620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the question, below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even
if they seem to be at variance with the commonly known facts and then decide which of the given conclusions logically follows from the given
statements, disregarding commonly known facts.

Statement:

I. Some colors are bright.

II. Some clothes are not bright.
Conclusion:

I. All clothes are bright.

II. Some colors are not clothes.

Options :

1. #* If only Conclusion I follows

2. % If only Conclusion II follows

3. #% If either Conclusion I or IT follows

4. % If neither Conclusion I nor II follows

Question Number : 22 Question Id : 92775913620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2. % g Had FHY 11 IR0 Hdl &
3. % gfe a1 dr e 137 11 SR Rl §
4.« i A A Fwy 1 3R 1 8 e 11 SR Hvd §

Question Number : 23 Question Id : 92775913621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If P denotes '+', Q denotes ', R denotes '+' and S denotes 'x' then

I8S36 R12Q6P7=7
Options :
1. % 115
2. % 25
3.9 55
4, % 75

Question Number : 23 Question Id : 92775913621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g p, '+ P SRIATR Q, ' P! ST §; R, '+ P SRMAT S 3R S, 'x' DI VAT 8, al

I8S36R12Q6P7=7
Options :
1. # 115
2. % 25
3.9 55
4, % 75

Question Number : 24 Question Id : 92775913622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term from the given alternatives.



11 B7

Options :
1. # 100
2. % 120
3. ¥ 98
4. % 2

Question Number : 24 Question Id : 92775913622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 100
2. % 120
3. ¥ 98
4. % 2

Question Number : 25 Question Id : 92775913623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following equation becomes mathematically correct when you interchange either the sign or the numbers as indicated in the given equation.
Find the correct alternative.

(16-4)x6+2+8=30
Options :

1. % 4and 2

2.% +~and -

3. % l6and 6

4, % —and +

Question Number : 25 Question Id : 92775913623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e Tftezor 1o 1 =P & et 8 S § afe 3y fou e geiteRr B Tard & STER AT dl e o TReataht bl o B geed § | et
fas ey F1d HifsTT

(16-4)x6+2+8=30
Options :

1. % 43R 2
2.9+ 3R -
3. % 16 3R 6
4. % 3R+

Question Number : 26 Question Id : 92775913624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

1352 :30::2431:25::1562:7
Options :

1. % 32

2. % 35



3. ¥ 49
4. % 64

Question Number : 26 Question Id : 92775913624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAefefed w1 4, fau U faswedl O 9 grafRid e & gl

1352:30::2431:25::1562:7?
Options :

1. % 32

2. % 35

3.9 49

4. % 64

Question Number : 27 Question Id : 92775913625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one set of numbers when sequentially placed at the gaps in the given number series shall complete it logically?

1 31,1 28, 197,2 4
Options :

1. ¥ 37274

2. % 22824

3. % 37266

4. % 22274

Question Number : 27 Question Id : 92775913625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 TS TReT el | I e T I Well ™I WR T arelt TRearaft &1 &1F 11 A 39 dlfed &9 F TR B2

1 31,1 28, 197,2 4




Options :

1. ¥ 37274
2. % 22824
3. % 37266
4. % 22274

Question Number : 28 Question Id : 92775913626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following figures represents the best relationship among the three words given below.

Digestion, Respiration, Blood Circulation
Options :

.©

Oo

,LO OO

Question Number : 28 Question Id : 92775913626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafoRed # I ®F- It srefa fow T fiF wsal & o 9w sr=y deY &I il 8|

Options :

.©

Oo

,LO OO

Question Number : 29 Question Id : 92775913627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Some people are numbered and have some characteristics. Study the following diagram to answer correctly.




What is the square root of the number which shows the Beautiful Naughty Girl?
Options :

1.¥38

2. % 16

3.%9

4. % 4

Question Number : 29 Question Id : 92775913627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$© Afqdl B! GHifdhd fohaT T § SR 370 $& faRIvdT § 1 Wel SR o & forg fufafad srafa &1 sremae s

FraX IR ASH! Bl G-I+ aTel TSl BT A T 52
Options :

1.v8

2. % 16

3.%9

4.% 4

Question Number : 30 Question Id : 92775913628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following figures represents the best relationship among the three words given below.

Anxiety, Intelligence, Strength



Options :

Question Number : 30 Question Id : 92775913628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o 9 ®F- 3t srefd fdu U 9 wsal & ol Ja orws A9y &I a=idl g

Options :

©

1.



2. 8

O
3,-.:-’OO

.. O

Question Number : 31 Question Id : 92775913629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the following diagram, find the number of uneducated men who are not intelligent.

Options :
1. # 88
2. % 68
3.¥ 42
4. % 62

Question Number : 31 Question Id : 92775913629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad snefa 9, siiiférd goul &t e F1d SIfoe off §fgH ™ T8l o

@

Options :
1. % 88
2. % 68
3.9 42
4. % 62

Question Number : 32 Question Id : 92775913630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following diagram represents the correct relationship between Calculations, Multiplication and Environment ?
Options :

QO
O




O°

3.¢

Question Number : 32 Question Id : 92775913630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & QDI - T 3R U, T[ON 3R ATdTaR0l & S Fol I8¢ 1 G=ITdl 52

Options :

QO
1. ® O
2. %

©O

3.¢




Question Number : 33 Question Id : 92775913631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rahul goes 7 km towards North-East, then he turns 135 degree clockwise and goes 30 km. Now, he goes 3 km towards North-East. Finally, he
takes left turn and goes 4 km.

What is the shortest distance between starting point and ending point?
Options :

1. * 20 km

2. ¥ 24 km

3. % 21 km

4. % 7km

Question Number : 33 Question Id : 92775913631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 7 foeit, ITR-gd 1 3R SIra 5, bR a8 135 Fetht afémmasd gear 3 ok 30 fovet. ST g1 3fe, 98 3 fbHl. IWR-yd 1 SR ST 3|
3idd: 98 91¢ ST § 3R 4 foor. ST |

TR forg quT sifaw fig & o gaaw ¢ faraeit 82
Options :

1. % 20 fopril

2. 24 foptit

3. % 21 fooedt

4. % 7 fooudft

Question Number : 34 Question Id : 92775913632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
How many quadrilaterals are there in the figure given below?

Options :
1. %6
2. % 7
3.9
4. % 10

Question Number : 34 Question Id : 92775913632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et sl & Ty o I ford g2

Options :
1. %6
2. % 7
3.9
4. % 10



Question Number : 35 Question Id : 92775913633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will come next in the following series.

Qnesti_nn Figure: . _ _ _
@ ﬁDﬁ ﬂDﬁ .ﬁﬂﬂ. .&Gﬁ.
#FHFE | Ak | REXK
2000 | 9000
Options
(o]
§: 4
ﬂ*ﬂ..ﬂ.
2000

—— —— —

Question Number : 35 Question Id : 92775913633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I STpicl DT TG DISIT it AR SMTpid gRaer & 1T et



TR Wi -

2 VA AA AN A
ik | FHNk K
o000 | 000
Options :
(o]
&*A*A
2090

———— —

Question Number : 36 Question Id : 92775913634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the figures analogy, by choosing the figures from the given alternative.



Question Figure:

@ A ®

® @ |A
I il | |

Options :

® A

O ®

O

=l 2

P &

A [
® A

Question Number : 36 Question Id : 92775913634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 fadhed &1 9T HIFSY S faT 7T S i & Aexd &l ORI He |




TR I
E Al |G
® @] A E

I | | n
Options :

® A
O ®

X
O

P &

B ®

A [
® A

Question Number : 37 Question Id : 92775913635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the mirror image of the figure given below.



ey

Options :

N
#

D DB &

(s /D
7

4, %

Question Number : 37 Question Id : 92775913635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & Wit eefa @1 gdur ufafare Id S



Question Number : 38 Question Id : 92775913636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three positions of a die are given. Which letter will come on the face opposite to the face that has letter ‘C’ on it?



Flal |E|lp| | €|a

C B E

Options :
1.* B
2.¥D
3.% E

4. % BorD

Question Number : 38 Question Id : 92775913636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U Bt i FRufaat & 172 &1 7o theteh IR /¢ 31&R 81T 39 fausid thaids TR I T 31&R ST

1al [Elp| | ©]a

e B E
Options :
1.* B
2.¥D
3.% E
4. % BUID

Question Number : 39 Question Id : 92775913637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the answer figure in which the question figure is embedded.



Question Figure

WA

Options :

I.W@
e

3. ¢

Question Number : 39 Question Id : 92775913637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 ITR MTPHd 1 Biforg fored uy sepfal Rfgd gl



3.¢

4, %

Question Number : 40 Question Id : 92775913638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened.



Omuestion Fignre:

Options :

2. %
&P
Q0
3.¢ Y
5
LN N
4. % Y

Question Number : 40 Question Id : 92775913638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BITST b ThS bl T 3MPTa A ST TT 3FIR HIST 3R Bel ST | Wiei $ §1E 98 fbd IR 31 il & FAM fearg ammo




TR HThel

Options :

2.

0.0
3. Y

oo

LN LN
4. ® Y
Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

General Awarenessl
3
927759525
0
0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awarenessl

Section Id : 927759561
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759696
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 92775913639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is known as the last resting place of the Mughal emperor Akbar?
Options :

1. * Red Fort

2. % Sikandra Fort

3. % Purana Qila

4. % Agra Fort

Question Number : 41 Question Id : 92775913639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeiad o 9 ford Qe ToTe Sipar & Sifad fasmT &d & U & SH1 ST 82
Options :

1. % qrd foetm

2. ¢ Ry o1 bl

3. % QR foetm

4. % 3R ] fobell

Question Number : 42 Question Id : 92775913640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following Indian months is the festival Rakshabandhan celebrated?
Options :

1. ¥ Sravana

2. % Bhadra

3. % Ankita

4. ® Chaitra

Question Number : 42 Question Id : 92775913640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 ¥ fea yRdla 7 | Jemde &1 AR J- 11 ST 82
Options :

1.« YIqu]

2. % Hig

3. % gifddr

4. % o

Question Number : 43 Question Id : 92775913641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From which of the following places was the biggest rock-cut chaitya-hall excavated?



Options :

1. # Bedsa
2. # Nashik
3. ¥ Karla
4. #* Kanheri

Question Number : 43 Question Id : 92775913641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfid & § &Y R & T & HlchR ol 3T I Hef §-1T1 T g2
Options :

1. % qadl

2. % A1

3. ¢ STdl

4. % Do

Question Number : 44 Question Id : 92775913642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following is a leading exponent of Bharatanatyam and Kuchipudi dance and played the lead role of Draupadi in Peter Brook’s
stage adaptation of the Mahabharata?

Options :

1. ¥ Mallika Sarabhai

2. ¥ Ammu Swaminathan
3. # Sonal Mansingh

4. % Rukmini Devi Arundale

Question Number : 44 Question Id : 92775913642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mf?ﬁﬁ@f DI WRATCIH R HRIYS! T & YW UAUIG® § 3R AGTHRA & UIeR §ob & Hd e | alug &t g YT
?




Options :

1. ¢ Hicdh] ARIHTS

2. % 3 WHARA

3. % g qHRig

4. % THIT Gdl SReTGId

Question Number : 45 Question Id : 92775913643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which name is the Indian classical singer Shivaputra Siddharamayya Komkalimath better known as?
Options :

1. # Pandit Lalgudi Jayaraman

2. % Pandit Bhimsen Joshi

3. # Pandit Jasraj

4. ¥ Pandit Kumar Gandharva

Question Number : 45 Question Id : 92775913643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AR e FRITYH RieRHa s s sgav 0 § & AT ST S R
Options :

1. % Ufed et SRRE

2. % Ufgd HiHa oi=it

3. ® UfSd SRRTS

4. ¢ Uf$d HUR Tiyd

Question Number : 46 Question Id : 92775913644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following economic societies the goods produced are distributed among people not on the basis of what people need but on the
basis of Purchasing Power?

Options :



1. # Traditional society
2. ¢ Capitalist society
3. ¥ Socialist society

4. % Mixed economy

Question Number : 46 Question Id : 92775913644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁaﬁr@aﬁ%@rm SrforaR o Ianfed axgsi &1 fafid Hfaddl & s f[aavur ST STaadhdrs]i & AR o1 IR 3% $Hd-&Hdl &
3TIR Bldl 82

Options :

Question Number : 47 Question Id : 92775913645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many maximum deputy governors there could be in the Reserve Bank of India?
Options :

1. %2

2.%3

3.¥ 4

4, %5

Question Number : 47 Question Id : 92775913645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRTT ord a6 & siferarad faram fE8 TawR 81 9ahd 82

Options :




1. %2
2.%3
3.¥ 4
4. %5

Question Number : 48 Question Id : 92775913646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following committee had recommended the formation of payments banks in India?
Options :

1. # Bimal Jalan Committee

2. ¥ Nachiket Mor Committee

3. ¥ Subramanian Committee

4. % Narasimham Committee II

Question Number : 48 Question Id : 92775913646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed & 3 foa 9iifa 7 YR & YiTam S&f & 764 &1 Rl &t o
Options :

1. # fome e afffd

2. ¢ Fifeehd HR |iAfd

3. % gequgy it

4. % fgdtg RiRywew FfAfd

Question Number : 49 Question Id : 92775913647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What amount has been allocated for the forthcoming Census for the year 2021-22 as per the Union Budget 2021?
Options :

1. ¥ Rs. 3,768 crore



2. % Rs. 2,568 crore
3. ® Rs. 5,768 crore
4. ® Rs. 4,572 crore

Question Number : 49 Question Id : 92775913647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HER FoIC 2021 B ATIAR T 2021-22 P TG ST SRTOAT & forg = Jfy sirdfed &1 715 g2
Options :

1. ¢ 3,768 BIS ¥UU

2. % 2,568 RIS BUY

3. % 5768 IS YU

4. % 4572 TG BUT

Question Number : 50 Question Id : 92775913648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of the PM-KUSUM Yojana?

Options :

1. # Pradhan Mantri - Kendriya Urja Evan Sinchai Utthan

2. # Pradhan Mantri-Krishi Urja Suraksha evam Utthan

3. ¥ Pradhan Mantri-Kisan Urja Suraksha evam Utthan Mahabhiyan
4. ® Pradhan Mantri-Kaushal Utthan

Question Number : 50 Question Id : 92775913648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Jeq-$gH (PM-KUSUM) TISHT &1 JUf U FT g2
Options :

1. % U T - daid 3ol Td Rirs 37

2. % Py HA- SV I Y& UG S




3. ¢ QUM T faM 3ol YRET Td I TR
4. % T T S S

Question Number : 51 Question Id : 92775913649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By using which of the following strong reducing agents can carboxylic acids be reduced to primary alcohols?
Options :

1. % Lithium Aluminium Hydroxide

2. # Palladium

3. # Sodium borohydride

4. # Grignard Reagents

Question Number : 51 Question Id : 92775913649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffed o 9 o yee sroaraes gRT Sreifauters Sl Bl Sehigal | oefid 5 o TebdT 32
Options :

1. ¢ Ty vegHiay gegiass

2. % qAISTH

3. % OfsTA IRERSRS

4. % BRAR Sifletie

Question Number : 52 Question Id : 92775913650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a unit of Electric Power?
Options :

1. ¥ Volt per metre

2. ® Watts

3. # Joule per second



4. # Calorie per second

Question Number : 52 Question Id : 92775913650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofaied o ¥ 3 faggd e 31 371 o1 o7
Options :

1. ¢ dce Ufd HicR

2. % dIc

3. % Sd ufd dhe

4. % HAR Ul Ybs

Question Number : 53 Question Id : 92775913651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an example of Bryophyta?
Options :

1. # Riccia

2. # Marchantia

3. % Ulva

4. % Funaria

Question Number : 53 Question Id : 92775913651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfIRad & I DI 91 SBISCl BT 3a1ex T8l 62
Options :

1. % Ry

2. % HIGHRA

3. ¢ 3{cdl

4. % TgARAT




Question Number : 54 Question Id : 92775913652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true regarding HFCs?
Options :

1. ® It contains chlorine

2. ® It is not categorised as a greenhouse gas

3. # They harm ozone layer more than CFC

4. ¥ They are used in air conditioners

Question Number : 54 Question Id : 92775913652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad # @ oI U9 HFC & IR H 9 82
Options :

1. % 390 qRH SR BT 8

2. % 3P WIS 19 Pt Juft & 718 331 S

3. % T8 3N R B CFC ¥ 3Afid JHUH Ugdrd §
4. ¥ 30 TR HSITR A IYTNT Ha1 Srar g

Question Number : 55 Question Id : 92775913653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following state in India is also Known as the ‘molasses basin’?
Options :

1. ¥ Assam

2. % Nagaland

3. % Mizoram

4. ¥ Manipur

Question Number : 55 Question Id : 92775913653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HRa H FRgferiad Tt 7 @ f58 Aoy sk & T H +f S Si1ar 82
Options :

1. % 39

2. % TS

3. ¢ ToIRH

4. % AR

Question Number : 56 Question Id : 92775913654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the largest delta of the world?
Options :

1. ¥ The Ganges-Brahmaputra Delta

2. % The Nile Delta

3. % The Mississippi Delta

4. # The Yellow River Delta

Question Number : 56 Question Id : 92775913654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad 7 @ oF 1 iy &1 998 951 ST 32
Options :

1. ¢ TT-§@TYH Seel

2. % i Seel

3. % ARt Seet

4. % dleft 7l Seel

Question Number : 57 Question Id : 92775913655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the drainage pattern called which resembles the branches of a tree?
Options :

1. # Radial

2. % Centripetal

3. % Dendritic

4. % Trellis

Question Number : 57 Question Id : 92775913655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot Tt WU B o1 BT oIl 7, Sl Teb U bt RIRaTai oiT fawdr 82
Options :

1. % 3oy &1

2. % BT HAR

3. ¥ GHIDIAD

4. % STl

Question Number : 58 Question Id : 92775913656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following type of forests are the most widespread forests in India?
Options :

1. % Tropical Thorn forests

2. ¥ Tropical Deciduous forests

3. ¥ Montane forests

4. ¥ Littoral and Swamp Forest

Question Number : 58 Question Id : 92775913656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRd A fRgfefad & T 59 UeR & a7 99 TS T 82



Options :

1. % IUHICHg HicaR a4
2. ¢ IUGIeS g quiardt g
3. % ggdg aq

4. % Za 3R gaed ard ad

Question Number : 59 Question Id : 92775913657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following was not a king of the Mahajanapada of Magadha?
Options :

1. % Bimbisara

2. # Ajatsattu

3. ¥ Mahapadma Nanda

4. ¥ Suddhodana

Question Number : 59 Question Id : 92775913657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad # @ o9 1Y & AgTSHUS &1 TS A8 UI?
Options :

1. % fofrearR

2. % S

3. ® OgUIHgG

4.« GGIGH

Question Number : 60 Question Id : 92775913658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From which of the following sources did the Nayanars and Alvars draw upon the ideals of love and heroism?
Options :



1. # Bhagvad Gita

2. # Quran

3. % Sangam Literature
4. # Sufi Movement

Question Number : 60 Question Id : 92775913658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 3R SR A fd Oid § THTied TR SR YRARAT & TGN DI ST for or

Options :

1. % YTag Tidr
2. % P

3. ¢ G g
4. % gl Ad

General Awareness2

Group Number : 4

Group Id : 927759526
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness2
Section Id : 927759562
Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759697
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 92775913659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following places in Pakistan was Baba Guru Nanak born?
Options :

1. # Kartarpur

2. * Bhucho Mandi

3. ¥ Talwandi

4. % Rawalpindi

Question Number : 61 Question Id : 92775913659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qTfh &l H S16T T 4D BT o FHfeiRad § 9 frd RIH IR g3 U1

Options :

Question Number : 62 Question Id : 92775913660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In which year did Aurangazeb die?
Options :

1. # 1701

2. % 1704

3. ¥ 1707

4. % 1711

Question Number : 62 Question Id : 92775913660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oS & g frg g A g3 o
Options :

1. % 1701

2. % 1704

3. %1707

4, % 1711

Question Number : 63 Question Id : 92775913661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following wars was fought in 17647
Options :

1. # Battle of Plassey

2. ¥ Battle of Buxar

3. # Battle of Chunar

4. % Anglo-Afghan War

Question Number : 63 Question Id : 92775913661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffed o @ &1 T g 1764 H TSI AT U



Options :

1. % Wi HT1gg

2. ¥ SRR DI A8
3. % FIRPIYG

4. % JMA-3MBIH g5

Question Number : 64 Question Id : 92775913662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hosni Mubarak who recently passed away was the President of which country?
Options :

1. # Bolivia

2. # Syria

3. % Mali

4. ¥ Egypt

Question Number : 64 Question Id : 92775913662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bl HIR e o1 B1at 81 | (1 81 771, a8 fobg =1 o rgufer 32
Options :

1. % Scitfaan

2. % i

3. % Hredl

4. g

Question Number : 65 Question Id : 92775913663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nuri is an indigenously developed launch vehicle/ rocket by which country?
Options :



1. ¥ South Korea
2. # Pakistan

3. % Bangladesh
4. # North Korea

Question Number : 65 Question Id : 92775913663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e <=1 gRT Wex # faaRid wauur aFRTdbe g2
Options :

1. ¢ & I

2. % UrfhEd™

3. % gAY
4. ® JW PINAT

Question Number : 66 Question Id : 92775913664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following Indians was appointed as the Chief Scientist at WHO in 2019?
Options :

1. # Mina Swaminathan

2. % Soumya Swaminathan

3. ¥ Balram Bhargava

4. ¥ Preeti Sudan

Question Number : 66 Question Id : 92775913664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoid yRdal & 9 fd 2019 H fova e W6 § g a7 & 9 § gad fear mar e
Options :

1. % T @AY=




2.« T WHIATRA
3. % §ERMH HIa
4. % Hifd gaH

Question Number : 67 Question Id : 92775913665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organisations have designed the Crew Dragon spaceflight?
Options :

1. ¥ NASA

2. % JAXA

3. % ISRO

4. ¥ SpaceX

Question Number : 67 Question Id : 92775913665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 forg WTea A % 79 Wavage fSoms farar g2
Options :

1. % AT (NASA)

2. % VIR (JAXA)

3. % IR (ISRO)

4. 1\—'l.jﬂ'Qa'\‘:[(SpaceX)

Question Number : 68 Question Id : 92775913666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the author of the book 'Habba Khatoon' ?
Options :

1. % Amit Shah

2. ¥ Kajal Suri



3. * Shashi Tharoor
4. % Lal Krishna Advani

Question Number : 68 Question Id : 92775913666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad o ¥ SH qXde gea W & AWD &2
Options :

1. % 3ffFd T8

2. ¢ HIolel

3. % TR PRR

4. % el W S{SAUil

Question Number : 69 Question Id : 92775913667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of the following country's government has India signed Rs 15,295-cr loan pacts for major rail projects for public, freight transport?
Options :

1. ¥ Japan

2. % South Korea

3. % Russia

4. % Australia

Question Number : 69 Question Id : 92775913667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 frg <¥ & RER A Ardei-e, A1 URdg- & o U@ 3d URaeHe & fiT 15,295 HRIS S0 & HUT 90T TR
FHIER fbu g2

Options :

1. ¢ STAH

2. % TIEUTHIRAT




3. % &9
4. % 3feferan

~

Question Number : 70 Question Id : 92775913668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who had chaired the 2020 G20 video-conference summit?
Options :

1. # Donald Trump

2. # Jair Bolsonaro

3. % King Salman of Saudi Arabia

4. % Putin

Question Number : 70 Question Id : 92775913668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 T S0 AST-HiHhT RRER T B sfegerar g ot i
Options :

1. % SIS ¢/

2. % SR SIERI

3. ¢ US4l 3R b TG JAHH

4. % gfaq

Question Number : 71 Question Id : 92775913669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following days was celebrated as the first anniversary of the National War Memorial in 2020?
Options :

1. # February 18th

2. % February 21st

3. % February 23rd



4. ¥ February 25th

Question Number : 71 Question Id : 92775913669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ay 2020 & FARIRIT H F HH A1 &7 AP J& TRS DI UGl UG o = H FAIT T[T 412
Options :

1. % 18 ThRaR]

2. % 2] HRIARL

3. % 23 TIaR!

4. 25 TR

Question Number : 72 Question Id : 92775913670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Union Cabinet has approved the constitution of which Law Commission for a term of three years?
Options :

1. % 20th

2. % 21st

3. % 22nd

4, % 23rd

Question Number : 72 Question Id : 92775913670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sy dided A forg fafd smav & 7o o1 i Tra Pt srafer & for et €t g
Options :

1. % 2041

2. % 214l

3.¢ 224l

4. % 234



Question Number : 73 Question Id : 92775913671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following acts divided the powers between the Centre and units in terms of three lists—Federal List, Provincial List and the
Concurrent List?

Options :

1. ¥ Government of India Act 1935
2. # Indian Councils Act 1909

3. % India Independence Act 1947
4. ¥ Indian Councils Act 1892

Question Number : 73 Question Id : 92775913671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # A fby SfAfFam = e SR hrsdl & ot 17 Yo - Feita e, 6y Fet R FHad Gt b YR R WTekidl BT §Tar] B
feam ur

Options :

1. ¢ YRd AR HHTT 1935

2. % YRd URyg HfAFIH 1909

3. % YR WaAdr AT 1947

4. % YRd uRyg fe=aH 1892

Question Number : 74 Question Id : 92775913672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Swaran Singh Committee set up by the Indian Government?
Options :

1. % 1973

2. %1970

3. % 1979

4.+ 1976



Question Number : 74 Question Id : 92775913672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd PR gR1 Wof Rig I BT wig=1 forg quf o1 715 o
Options :

1. % 1973

2. %1970

3. % 1979

4.+ 1976

Question Number : 75 Question Id : 92775913673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following articles of the Indian Constitution is related to the impeachment of the President?
Options :

1. % Article 52

2. # Article 57

3. % Article 61

4. % Article 65

Question Number : 75 Question Id : 92775913673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRerg "fdu™ & FafaRad # 3 oH 91 srgwde Iyufd & HeriHanT 3 defed 82
Options :

1. % 3Jwq 52

2. % 3G 57

3. ¥ TG 61

4. % 3THE 65




Question Number : 76 Question Id : 92775913674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the 84th Amendment Act of 2001, till which year has the allocation of seats in the Lok Sabha to the states and the division of each
state into territorial constituencies been frozen?

Options :
1. % 2021
2. % 2023
3. % 2025
4.9 2026

Question Number : 76 Question Id : 92775913674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2001 § TR 84-d TEe= HfAFTH & Siaefd frg oo de Il &l AegHT H I &1 3iTde 3R Ud® Iy & Ui Hafram & o
fyTeH & fRR PR feam

Options :
1. % 2021
2. % 2023
3. % 2025
4. ¥ 2026

Question Number : 77 Question Id : 92775913675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a constitutional body?

Options :

1. # National Human Rights Commission

2. % National Commission for Women

3. % National Consumer Disputes Redressal Commission

4. % National Commission for Scheduled Castes



Question Number : 77 Question Id : 92775913675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 SH-91 T Haute Hem g2
Options :

1. % P HEATYDBR ST

2. % I[P ARG SN

3. % PTY FUHIH fadrg FaRor SmanT

4. 3T STl o forg S ranT

Question Number : 78 Question Id : 92775913676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Janardhan Singh Gehlot, who recently passed away was the Vice-President of which of the following organisations?
Options :

1. # All India Tennis Association

2. ¥ Indian Olympic Association

3. # International Kabaddi Federation

4. ® International Cricket Council

Question Number : 78 Question Id : 92775913676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST Rig Teaia, fomet g1ar €1 & e 8 o, Fuferiad § 3 g Ties & Suraer &
Options :

1. % 3fid Sfegar Y THifu

2. ¢ YR Seifies Ty

3. % SR Hagl HERY

4. % SIRIP fbpe uRwg

Question Number : 79 Question Id : 92775913677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
With which sports is Gotoku Sakai associated?
Options :

1. # Hockey

2. # Badminton

3. ¥ Football

4. # Ice-Hockey

Question Number : 79 Question Id : 92775913677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TMeId oTs fhd Wd 4 Jafid g2
Options :

1. % glep!

2. % gsfiieq

3. Badld

4. % 3Gl

Question Number : 80 Question Id : 92775913678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who holds the record of highest bowling speed in cricket history?
Options :

1. # Brett Lee

2. % Shane Bond

3. % Shaun Tait

4. ¥ Shoaib Akhtar

Question Number : 80 Question Id : 92775913678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fopepe SiTgTI H el ool Tiaeroll B BT RIS fbded A 82

Options :
1. % gt
2. % YT SIE
3. % Qe
4. ¢ MTF 3RER
Arithmetic Abilityl
Group Number : 5
Group Id : 927759527
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Abilityl
Section Id : 927759563
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759698

Question Shuffling Allowed : Yes



Question Number : 81 Question Id : 92775913679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of p in the equation given below.

12x5+(16+4)+(3x8+6)x2p=15x6+3
Options :
7

1.« 8

Question Number : 81 Question Id : 92775913679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

d fau U TR § p &1 AF J1d BT |

12x5+(16+4)+(3x8+6)x2p=15x6+3
Options :
7!

1.« 8



Question Number : 82 Question Id : 92775913680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The six digit number 14357X is exactly divisible by 9 where X is a single digit whole number. Find X.
Options :

1.% 0

2.9 7

3.9

4. % 1

Question Number : 82 Question Id : 92775913680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 3D Bt U TBAT 14357X, 9 T Yuld: fAUTST § S8t X Thd 3ihg Yol W1 1 X &1 HH J1d Hiforg|
Options :

1.* 0

2.9 7

3.9

4. % 1

Question Number : 83 Question Id : 92775913681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the HCF of x* —625 and x* + 4x —5.
Options :



1. % {K_5}
) (x +5)
3 % {}{2+4}

4. & {Kz_ 4}

Question Number : 83 Question Id : 92775913681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

x* — 625 3R x2 + 4x — 5 ] HguH JHMIT(D JTd HIfTd|

Options :
1. % {K ! 5}

) (x +5)
3 % {KZ""i}

4. ® (x*—4)

Question Number : 84 Question Id : 92775913682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the greatest number of four digits which is exactly divisible by 24, 28, 30 and 35.
Options :

1. # 9225

2. % 9240



3. ¥ 9250
4. % 9260

Question Number : 84 Question Id : 92775913682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 3! B! T TSI AT 1 HIOT, T 24, 28, 30 3R 35 F gofa: faursa B
Options :

1. % 9225

2.9 9240

3. % 9250

4. % 9260

Question Number : 85 Question Id : 92775913683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 .
HTx=1 +1+—1 then what 1s the value of 2x -{ ?

Options :
1. %3
2. % 4
3.5
4. % 6

Question Number : 85 Question Id : 92775913683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 -
A x=1+—— A2+ PTAAH T 2

1+ I
1+

n

1+

Options :



1. %3
2.% 4
3.¢¥5
4. % 6

Question Number : 86 Question Id : 92775913684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The marked price of a chocolate was Rs. 180. At the time of sale, there were two successive discounts of 20 percent and 10 percent given. If a
gain of Rs. 30 can be made without any discount, then what was the gain or loss made with discounts?

Options :

1. # Rs. 3.6 gain
2. # Rs. 5.2 gain
3. % Rs. 20.4 loss
4. % Rs. 18.8 loss

Question Number : 86 Question Id : 92775913684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS dAlevaic &I 3iford Yoo 180 TUY UT| faeht & THd, 20 Tfa=Td 3R 10 UfA=Id & &l %t ge fou MU 31 afe 30 U8 &1 ary fomr farsd
JC & UI fordT ST Gahdl §, Al F & I1 @1 T1 1 et ot

Options :

1. % 363900 ATH

2. % 52 30U ATH

3. ¢ 20.4 %09 A

4. % 18.8 FYY I

Question Number : 87 Question Id : 92775913685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A merchant marks his goods at Rs. 900 and allows a discount of 25 percent. If he still gain 12.5 percent, then the cost price of the goods is:
Options :



1. # Rs. 500
2. ¥ Rs. 600
3. # Rs. 720
4. * Rs. 520

Question Number : 87 Question Id : 92775913685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP AR 30 ATe TR 900 I 3ifdrd FHrelm § 3R 25 U= &t Ge g | afe ag 31t ot 12.5 Ufa=ra &1 ey v & g, 6 A1et &1
HI A

Options :

1. % 500 30

2. ¥ 600 TYY

3. % 720 39Y

4. % 520397

Question Number : 88 Question Id : 92775913686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of a husband and wife, who were married 7 years ago, was 25 years at the time of their marriage. Now the average age of the
family including husband, wife and a child born during the interval is 22 years. What is the present age of child?

Options :

1. ® 4 years
2. % 3 years
3. % 2 years
4. % 6 years

Question Number : 88 Question Id : 92775913686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Ul 3R Telt fomiant 2t 7 a9 Ugd g3 off, &t 3N Si1g Sas et & e 25 aY oft | 3@ ufd, Uelt SiR 39 SicRTd & SR Uel §U Uh
= Gfed IRAR &1 fd 317 22 T § | = B ITHM 311 T 52



Options :
. % 4799
2. % 399
3.¢ 299
4. % ¢4

Question Number : 89 Question Id : 92775913687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average mark of a student in four subjects is 75. If the student obtained 80 marks in the 5th subject then the new average is:
Options :

1. * 80

2.¥76

3. % 92

4. % 95

Question Number : 89 Question Id : 92775913687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR fawl 7 T BT $1 319 8 75 51 Al BT 53T fawy H 80 ieh UIed el &, T =11 S &
Options :

1. * 80

2.9 76

3. % 92

4. % 95

Question Number : 90 Question Id : 92775913688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2000 persons were appeared for an interview, and 13 percent of them got selected. The number of male who got selected is 20 more than the
number of female who got selected. If 20 percent of the females got selection, then how many females were appeared for interview?

Options :



1. # 750
2. % 400
3. # 1400
4. % 600

Question Number : 90 Question Id : 92775913688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2000 Hifdd TEMBR & o IufYd gY, 3R I8 ¥ 13 Ufa=rd Tafid gu1 9afd g aTel Gou! &1 I, 9afd 814 areit Afgarsii o
=T ¥ 20 31fYH 71 afe Afgarsit § 20 ufawra &1 99+ gan, @ TR & fea- aitand e g3 2

Options :

1. * 750

2. % 400

3. % 1400

4. ¥ 600

Question Number : 91 Question Id : 92775913689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three papers were set in an examination and the maximum marks per paper were in the ratio of 1 : 2 : 2 respectively. If a student obtained 40
percent in the first paper, 55 percent in the second, and 65 percent in the third, what per cent mark did he obtain overall?

Options :

1. # 58 percent
2. ¥ 56 percent
3. % 54 percent
4. % 60 percent

Question Number : 91 Question Id : 92775913689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T H o U0 ¥e fHT T 9 3R U O & Sifidad 3id HHR: 1:2: 2 & 3JUd § 3| If¢ Hig B Ugd YR H 40 Ufa=rd, gav o
55 =TT 3R TR H 65 UTI=Id 3idh YT &l &, df U $dl [T foha Wia=Td 3 Ui fpu?




Options :

1. % s3yfard
2. ¢ 56 UfdRId
3. % 54Yfa=id
4. % 60 gfaerd

Question Number : 92 Question Id : 92775913690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raman goes to a shop to buy a book costing Rs. 2568. The rate of sales tax is 7 percent. He tells the shopkeeper to reduce the price of the book to
such an extent that he has to pay Rs. 2568, inclusive of sales tax. Find the reduction needed in the price of the book.

Options :

1. # Rs. 179
2. % Rs. 170
3. % Rs. 168
4, % Rs. 169

Question Number : 92 Question Id : 92775913690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 179390
2. % 170398
3. ¢ 168 ¥4
4. % 169 309

Question Number : 93 Question Id : 92775913691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a cloth shop 800 coats are available for sell, of which 15 percent are full-length-coats. If 500 of the shorter length coats sold, then what per



cent of the remaining coats are full-length coats?
Options :

1. % 50 percent

2. % 35 percent

3. ¥ 40 percent

4. % 42 percent

Question Number : 93 Question Id : 92775913691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 50 gfa=rd

2. % 35 gfa=rd

3. ¢ 40 Ufd=Id

4. % 42 gfa=rd

Question Number : 94 Question Id : 92775913692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man sells his scooter at Rs. 45,000 and incurs a loss of 10 percent. At what price should he sell it to gain 15 percent?
Options :

1. ¥ Rs. 57500

2. % Rs. 52000

3. % Rs. 54500

4. % Rs. 60000

Question Number : 94 Question Id : 92775913692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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TR §91 91 W?
Options :

1. ¢ 57500 =Y
2. % 52000 Y
3. % 54500 &0Y
4. % 60000 Y

Question Number : 95 Question Id : 92775913693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An article is sold at three-fourth of its marked price. If the profit is twice the discount offered, then find the profit percent?
Options :

1. ¥ 200 percent

2. % 50 percent

3. % 100 percent

4. % 25 percent

Question Number : 95 Question Id : 92775913693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 200 UfA=Id

2. % 50 UfaRrd

3. % 100 Ufa=rd

4. % 25 yfaRrd

Question Number : 96 Question Id : 92775913694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper bought 30 packs of soaps at Rs. 75 per pack with each pack containing 4 soaps. He repacked them in a pack of three soaps and sold
each pack at Rs. 60. What is the profit percentage of the shopkeeper?



Options :

1. # 8 percent

2. % 7.5 percent
3. ¥ 6.66 percent
4. % 5 percent

Question Number : 96 Question Id : 92775913694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g gfa=rd
2. % 7.5 gfderd
3. ¢ 6.66 Uld=Id
4. % 5 Yfad

Question Number : 97 Question Id : 92775913695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pawan, Karan and Raman distributed an amount of Rs. 1704 among themselves. Pawan gets 36/57 of what Karan gets. Karan gets 57/49 of what
Raman gets. What is the amount that Pawan and Karan got together?

Options :

1. ¥ Rs. 1116
2. % Rs. 1424
3. % Rs. 1340
4. % Rs. 1228

Question Number : 97 Question Id : 92775913695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 1116 90

2. % 1424 F0Y

3. % 1340 QY

4. % 1228 T

Question Number : 98 Question Id : 92775913696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anil, Baali and Chandu divide an amount of Rs. 4200 among themselves in the ratio of 6 : 7 : 8 respectively. If Rs. 200 is added to each of their
shares, what will be the new ratio of their shares?

Options :
1. % 2:
2. % 2
3.7
4, % 8.

O 0 W K

: 10

Question Number : 98 Question Id : 92775913696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T, T 3R Tg 7 4200 T B IR SMUH H HHRT: 6:7:8 P AT H FicT| Al TP & g & 200 TG FH@R 1 §, O 37 fewl
D1 1 3T T gRIT?

Options :

1. % 2.
2. % 2
3.9 7.
4. % 8.

O o0 W H
O WD

- 10

Question Number : 99 Question Id : 92775913697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Sonu and Monu enter into a partnership with capital of Rs. 50,000 and Rs. 60,000 respectively. Ranu joined after some months with an amount of
Rs. 50,000. If their profit sharing ratio at the end of one year is 20 : 24 : 15, after how many months Ranu joined ?

Options :
1. * 6
2. % 4
3.3
4.%9

Question Number : 99 Question Id : 92775913697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 6

2.% 4

3.3

4. %9

Question Number : 100 Question Id : 92775913698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A vessel contains 70 litres of a mixture of milk and water containing 90 percent milk. Find the quantity of water to be added to the vessel so that
the percentage of milk in the new solution becomes 87.5 percent.

Options :

1. % 2.5 litres
2. ¥ 2 litres
3. % 5 litres
4. % 4 litres

Question Number : 100 Question Id : 92775913698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 2.5 Qe
2. ¢ 2]
3. % 57X
4. % 47
Arithmetic Ability2
Group Number : 6
Group Id : 927759528
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability2
Section Id : 927759564
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1



Sub-Section Id : 927759699
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 92775913699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 2500 lent at 16 percent p.a. compound interest compounded quarterly becomes Rs. 2704. Find the time period.
Options :

1. # 1 years

2. % 2 years

3. % 3/4 years

4. ¥ 1/2 years

Question Number : 101 Question Id : 92775913699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2500 T BI AR 16 ferera Ul af =epgfeg s o1 o=, i fadrd Sa 8Y, 2704 T2 1 1t B 1 g 3rafdy 3rd i
Options :

1. % 199

2. %29y

3. % 3499

4.4 12379

Question Number : 102 Question Id : 92775913700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the equal installments are paid at the end of every year, what annual payment will discharge a debt of Rs. 9000 due in 3 years at 20 percent per
annum at simple interest?

Options :

1. % Rs. 3000
2. % Rs. 2500
3. % Rs. 2000



4. * Rs. 2700

Question Number : 102 Question Id : 92775913700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS YA a8 & 3fd T THM i &1 YT fhar Jrar |, o 3 a8 H 20 Ufa=rd ufd oy TeRor sars &1 @R ¥ 9000 TUT & HUT 1 Al
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Options :

1. % 3000 =04

2. ¥ 2500 T0Y

3. % 2000 &0

4. % 2700 &0

Question Number : 103 Question Id : 92775913701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sameer invested Rs. 8000 at 8 percent p.a. simple interest and Rs. 12000 at 12 percent p.a. simple interest for two years. How much less interest
would he got if he invested all the amount on simple interest at the rate of 10 percent p.a. for the same time?

Options :

1. ® Rs. 110
2. % Rs. 140
3. % Rs. 220
4. ¥ Rs. 160

Question Number : 103 Question Id : 92775913701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 110 ®90
2. % 140 TUY



3. % 220 QY
4. ¢ 160 TTY

Question Number : 104 Question Id : 92775913702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sonal starts running from a place with the speed of 8 km/h. After every 15 minutes, she increases her speed by 1 km/h. In how many hours she
will cover a distance of 23 km?

Options :
l.*% 6
2. % 4
3.%3
4. ¥ 2

Question Number : 104 Question Id : 92775913702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %6

2. % 4

3. %3

4.4 2

Question Number : 105 Question Id : 92775913703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rajat starts moving from A towards B at a speed of 30 kmph and after every 12 minutes, he increases his speed by 5 kmph. If the distance
between A and B is 63 km, then how much time does he take to cover the distance?

Options :

1. # 60 minutes



2. * 72 minutes
3. #* 90 minutes
4. ¥ 84 minutes

Question Number : 105 Question Id : 92775913703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 60 fiFe
2. % 72fiFe
3. % 90 fi e
4. 84 e

Question Number : 106 Question Id : 92775913704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train crosses two platforms 370 meters and 480 meters long in 41 and 52 seconds respectively. Find the speed of the train.
Options :

1. % 24 kmph

2. % 36 kmph

3. % 45 kmph

4. % 64 kmph

Question Number : 106 Question Id : 92775913704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ¢ 370 Hicr 3R 480 Hiex Tl &1 Wi &I HHT: 41 3R 52 Johe T IR dal g | S Bt 71 F1d ol |
Options :

1. % 24 foodl/ deT



2. ¥ 36 fopdl/ HeT
3. % 45 fdHY de1
4. % 64 fhHY GeT

Question Number : 107 Question Id : 92775913705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On an occasion, a paint contractor employed 40 painters to paint a building in 100 days. But after 50 days only 40 percent of the work is
completed. How many more painters need to be employed so that the work can be completed on time?

Options :
1. % 10
2. % 14
3.9 20
4. % 25

Question Number : 107 Question Id : 92775913705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 10

2.% 14

3. ¥ 20

4. % 25

Question Number : 108 Question Id : 92775913706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

60 men can complete a piece of work in certain number of days. If half of the work is to be completed in 2 times the number of days required to
complete the whole work, then by how much the number of men can be reduced?

Options :



1. * 25
2.% 20
3. % 15
4.9 45

Question Number : 108 Question Id : 92775913706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 25

2. %20

3. %15

4. ¢ 45

Question Number : 109 Question Id : 92775913707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four men together can complete a piece of work in eight days and six women together can complete the same work in 12 days. In how many
days would four men and nine women together complete the work?

Options :

1. # 8 days
2. % 6 days
3. % 5days
4. ¥ 4 days

Question Number : 109 Question Id : 92775913707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % gfeA
2. % 6feA
3. % 5faq
4. 4feA

Question Number : 110 Question Id : 92775913708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pipe A can fill a tank in half the time in which pipe B can fill the same tank. If both the pipes are opened simultaneously, it takes 8 hours to fill
the tank. In how many hours can A alone fill it?

Options :

1. ¥ 12 hours
2. * 15 hours
3. % 17 hours
4. % 16 hours

Question Number : 110 Question Id : 92775913708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ 127%¢

2. % 15¢

3. % 1749¢

4. % 164UC

Question Number : 111 Question Id : 92775913709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Calculate the perimeter of a rectangle whose area is 16x*— 20x + 6.
Options :

1.¥ 16x— 10

2. % 16x—8

3. % 15-8x

4. % 10— 8x

Question Number : 111 Question Id : 92775913709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ATTd & URTY BT TUMET HIFOIE T 8% 16x2— 20x + 6 8
Options :

1. % 16x—10

2. % 16x —8

3. % 15-8x

4, % 10 - 8x

Question Number : 112 Question Id : 92775913710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A wooden floor is in the form of a rectangle with an area of 300 sq. m. If the length of the floor is 2/7 of its perimeter, then the diagonal of the
floor (in meters) is:

Options :
1. ¥ 25
2. %10
3.% 12
4, % 15

Question Number : 112 Question Id : 92775913710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 25

2. % 10

3% 2

4. % 15

Question Number : 113 Question Id : 92775913711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid metallic cylinder with base radius of 16 cm and height of 2 cm is melted to form a solid cone of height 6 cm. What will be the radius of
the cone?

Options :

1. * 4cm
2. % 8cm
3.9 16 cm

4. % 12 cm

Question Number : 113 Question Id : 92775913711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 499

2. % 3!

3. ¢ 16 9H!

4. % 127H

Question Number : 114 Question Id : 92775913712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A hollow spherical metallic ball has an external diameter 8 cm and thickness is 1.5 cm. How much is the volume of metal used in the ball?
Options :

2
337-cm?
1. % 3

24DEcm3
® 3

202> cm®
3. W 7

2
e 3
4 % 14?3cm

Question Number : 114 Question Id : 92775913712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

3372063
" 3

1.

2405 HI3
2w 3

2 3

3.¢znz?@1fﬁ

147° Q)3
4.% © '3



Question Number : 115 Question Id : 92775913713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following pie chart percent of students enrolled in different cultural activities of a college has been shown. Study the pie chart carefully
and answer the question given below.

Number of student = 2500

Karate, 10%

Dance, 38% Circket, 7%

Athletics, 5% Painting, 32%

Music, 8%

What is the number of students who opted for dancing?
Options :
1. ® 725
2. % 825
3. % 875
4. ¥ 950

Question Number : 115 Question Id : 92775913713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 725
2. % 825
3. % 875
4. 950

Question Number : 116 Question Id : 92775913714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following pie chart percent of students enrolled in different cultural activities of a college has been shown. Study the pie chart carefully
and answer the question given below.



Number of student = 2500
Karate, 10%

Dance, 38% Circket, 7%

Athletics, 5% Painting, 32%

Music, 8%

What is the respective ratio between the number of students who opted for painting and that who opted for Karate?
Options :

1. % 40:25

2. %80:23

3. %35:33

4.9¥16:5

Question Number : 116 Question Id : 92775913714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 40:25
2. % 80:23
3. % 35:33
4.¥16:5

Question Number : 117 Question Id : 92775913715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following table carefully to answer the questions that follow.



Percentage of Marks obtained by five students in three subject
Subjects

Students Months Science English
(100) (150) (50)
Rahul 88 86 66
Mithun 65 74 78
Kartik 72 68 84
Prabhash 01 72 72
Devang 89 &4 80

Note: Figures in brackets indicate maximum marks in that subject.

What are the total marks obtained by Rahul in all the subjects together?
Options :
1. # 240
2. % 252
3. % 232
4.+ 250

Question Number : 117 Question Id : 92775913715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 240
2. % 252
3. % 232
4. ¢ 250

Question Number : 118 Question Id : 92775913716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following table carefully to answer the questions that follow.



Percentage of Marks obtained by five students in three subject
Subjects

Students Months Science English
(100) (150) (50)
Rahul 88 86 66
Mithun 65 74 78
Kartik 72 68 84
Prabhash 01 72 72
Devang 89 &4 80

Note: Figures in brackets indicate maximum marks in that subject.

What are the average marks obtained by all the students in Maths?
Options :

1. # 76

2.9 81

3. % 87

4, % 179

Question Number : 118 Question Id : 92775913716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 76
2.9 81
3. % 87
4. % 79

Question Number : 119 Question Id : 92775913717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given graph shows the frequency of 100 students getting different marks in an exam.
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What is the class marks in the given data with highest frequency?
Options :

1. % 10

2.9 45

3. % 90

4. % 23

Question Number : 119 Question Id : 92775913717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 10

2.¥ 45

3. % 90

4. % 23

Question Number : 120 Question Id : 92775913718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given graph shows the frequency of 100 students getting different marks in a exam.
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The mean of the marks obtained by the students is:
Options :
1. % 384
2. %322
3. % 285
4. ¥ 30.7

Question Number : 120 Question Id : 92775913718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AU T UTE ¥ 100 SH &1 4ten T FF e U - HI 1gRT &1 Ul Fadl ¢ |
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1. % 384
2. %322
3. % 285
4. ¥ 30.7
General English1
Group Number : 7
Group Id : 927759529
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General English1

Section Id : 927759565
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759700
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 92775913719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The WHO continues to state that masks don’t necessarily protect healthy individuals to get infected as they go about their daily lives.
Options :

1. # The WHO continues to state that

2. # masks don’t necessarily protect healthy individuals

3. % to get infected as they go about their daily lives.

4. ¥ No Error

Question Number : 121 Question Id : 92775913719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.



The WHO continues to state that masks don’t necessarily protect healthy individuals to get infected as they go about their daily lives.
Options :

1. ¥ The WHO continues to state that

2. ® masks don’t necessarily protect healthy individuals

3. % to get infected as they go about their daily lives.

4. % No Error

Question Number : 122 Question Id : 92775913720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

It is appearing to me that you were never interested in doing this work.
Options :

1. ¥ It is appearing to me that

2. # you were never interested

3. # in doing this work.

4. % No Error

Question Number : 122 Question Id : 92775913720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

It is appearing to me that you were never interested in doing this work.
Options :

1. ¥ It is appearing to me that

2. ® you were never interested

3. # in doing this work.

4. % No Error



Question Number : 123 Question Id : 92775913721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The science teacher told me that a bat unlike other birds had teeth.
Options :

1. # The science teacher told

2. # me that a bat unlike

3. % other birds had teeth.

4. # No Error

Question Number : 123 Question Id : 92775913721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The science teacher told me that a bat unlike other birds had teeth.
Options :

1. # The science teacher told

2. ¥ me that a bat unlike

3. % other birds had teeth.

4. * No Error

Question Number : 124 Question Id : 92775913722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

When [ was driving on a car this morning I almost had an accident.



Options :

1. # When I was driving

2. % On a car this morning

3. # T almost had an accident.
4. ¥ No Error

Question Number : 124 Question Id : 92775913722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

When I was driving on a car this morning I almost had an accident.
Options :

1. * When I was driving

2. % On a car this morning

3. # T almost had an accident.

4. % No Error

Question Number : 125 Question Id : 92775913723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

While the men were out working in the field, I helped with milking the cows, feeding the calves.
Options :

1. ¥ While the men were out working

2. % in the field, I helped with milking

3. # the cows, feeding the calves.

4. % No Error

Question Number : 125 Question Id : 92775913723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

While the men were out working in the field, I helped with milking the cows, feeding the calves.
Options :

1. ¥ While the man were out working

2. % in the field, I helped with milking

3. # the cows, feeding the calves.

4. # No Error

Question Number : 126 Question Id : 92775913724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

He has immense mood swings, and has to be constantly remind how good he is.
Options :

1. ¥ constantly reminded
2. # constant reminder
3. # reminded constant

4. % No improvement

Question Number : 126 Question Id : 92775913724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

He has immense mood swings, and has to be constantly remind how good he is.

Options :

1. ¥ constantly reminded



2. * constant reminder
3. #* reminded constant

4. ¥ No improvement

Question Number : 127 Question Id : 92775913725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The room was completely dark, and no sound can be hear throughout the entire house.
Options :

1. # can be heard

2. % could be heard

3. # could be hearing

4. ¥ No improvement

Question Number : 127 Question Id : 92775913725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The room was completely dark, and no sound can be hear throughout the entire house.
Options :

1. # can be heard

2. % could be heard

3. % could be hearing

4. ¥ No improvement

Question Number : 128 Question Id : 92775913726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

When crown tissue is infected and become decay, the entire plant may wilt and die.
Options :

1. # becoming decay

2. # become decaying

3. % becomes decayed

4. % No improvement

Question Number : 128 Question Id : 92775913726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

When crown tissue is infected and become decay, the entire plant may wilt and die.
Options :

1. # becoming decay

2. # become decaying

3. % becomes decayed

4. ¥ No improvement

Question Number : 129 Question Id : 92775913727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

I have been working seven days a week for the past four years and it has been pretty tiring.
Options :

1. # have been

2. % has being

3. * have being



4. ¥ No improvement

Question Number : 129 Question Id : 92775913727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

I have been working seven days a week for the past four years and it has been pretty tiring.
Options :

1. *® have been

2. # has being

3. # have being

4. ¥ No improvement

Question Number : 130 Question Id : 92775913728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

Charles Dickens writes for the effects of industrialization on people’s lives.
Options :

1. ¥ wrote about the

2. ® writing of the

3. % writing on

4. ¥ No substitution required

Question Number : 130 Question Id : 92775913728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.



Charles Dickens writes for the effects of industrialization on people’s lives.
Options :

1. ¥ wrote about the

2. # writing of the

3. # writing on

4. # No substitution required

Question Number : 131 Question Id : 92775913729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The report produced by the planning inspector expected to be available to the public this week.
Options :

1. ¥ is

2. % are

3. # has

4. % were

Question Number : 131 Question Id : 92775913729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The report produced by the planning inspector expected to be available to the public this week.
Options :

1. % is

2. % are

3. * has

4. % were

Question Number : 132 Question Id : 92775913730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I ideas for a poem last week while I was driving back from one of our other sites.
Options :

1. * has

2. % had

3. # have

4. # having

Question Number : 132 Question Id : 92775913730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I ideas for a poem last week while I was driving back from one of our other sites.
Options :

1. % has

2. % had

3. #® have

4. # having

Question Number : 133 Question Id : 92775913731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

If you've been wondering what the book is about, this will give you much better idea.
Options :

1. % the

2. % an

3.¥a



4. % No article is needed

Question Number : 133 Question Id : 92775913731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

If you've been wondering what the book is about, this will give you much better idea.
Options :

1. # the

2. % an

3. a

4, % No article is needed

Question Number : 134 Question Id : 92775913732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

A long sword from his belt, which was covered with various decorative patterns.
Options :

1. ¥ hang

2. % hangs

3. # hanging

4. ¥ hung

Question Number : 134 Question Id : 92775913732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

A long sword from his belt, which was covered with various decorative patterns.
Options :



1. # hang
2. # hangs
3. # hanging
4. ¥ hung

Question Number : 135 Question Id : 92775913733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

In other words, every participant in a market economy is both exporter and importer.
Options :

1. % an, an

2. % the, the

3. * an, the

4. % the, an

Question Number : 135 Question Id : 92775913733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

In other words, every participant in a market economy is both exporter and importer.
Options :

1. % an, an

2. % the, the

3. # an, the

4. # the, an

Question Number : 136 Question Id : 92775913734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.



A. are seen ensconced in 5-star resorts

B. if politicians keep politicking with crowds
C. or keep attending weddings or

D. People will not make behavioural changes

Options :

1. ¥ DCBA
2. ¥ DBCA
3. % DABC
4. ¥ DBAC

Question Number : 136 Question Id : 92775913734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. are seen ensconced in 5-star resorts

B. if politicians keep politicking with crowds
C. or keep attending weddings or

D. People will not make behavioural changes

Options :

1. ¥ DCBA
2. ¥ DBCA
3. % DABC
4. ¥ DBAC

Question Number : 137 Question Id : 92775913735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. Historically the Indian political class has given

B. which has contributed greatly to

C. step motherly treatment to education and healthcare,
D. India falling behind in the comities of nations



Options :

1. # ABCD
2. % ABDC
3.¥ ACBD
4. % ACDB

Question Number : 137 Question Id : 92775913735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. Historically the Indian political class has given

B. which has contributed greatly to

C. step motherly treatment to education and healthcare,
D. India falling behind in the comities of nations

Options :

1. # ABCD
2. % ABDC
3.¥ ACBD
4. % ACDB

Question Number : 138 Question Id : 92775913736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Some people believe that newspapers can be carriers of the coronavirus pathogen, though medical experts say this isn’t true.
B. Yet others say that they’ve stopped because they can find out what’s happening, in India and in the world at large

C. Every now and then, I meet people who say they’ve stopped reading newspapers.

D. Others say they’ve stopped reading the papers because most of the stuff in them is so depressing.

Options :

1. # CDAB
2. # CDBA
3. % CABD



4.+ CADB

Question Number : 138 Question Id : 92775913736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Some people believe that newspapers can be carriers of the coronavirus pathogen, though medical experts say this isn’t true.
B. Yet others say that they’ve stopped because they can find out what’s happening, in India and in the world at large

C. Every now and then, I meet people who say they’ve stopped reading newspapers.

D. Others say they’ve stopped reading the papers because most of the stuff in them is so depressing.

Options :

1. % CDAB
2. % CDBA
3. % CABD
4.+ CADB

Question Number : 139 Question Id : 92775913737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. This International Day of Forests which passed by last week, India has reason to celebrate.

B. The latest biennial India State of Forest Report (ISFR) highlights an increase in the country’s forest and tree cover to 80.73 million hectare, or
24.56% of its total area.

C. Union environment minister Prakash Javadekar has announced India a global frontrunner in forest restoration.

D. However, a closer look at ISFR numbers reveals a disappointing growth of just 0.13% in India’s green cover.

Options :

1. ¥ ACBD
2. % ACDB
3. % ADBC
4. % ADCB

Question Number : 139 Question Id : 92775913737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. This International Day of Forests which passed by last week, India has reason to celebrate.

B. The latest biennial India State of Forest Report (ISFR) highlights an increase in the country’s forest and tree cover to 80.73 million hectare, or
24.56% of its total area.

C. Union environment minister Prakash Javadekar has announced India a global frontrunner in forest restoration.

D. However, a closer look at ISFR numbers reveals a disappointing growth of just 0.13% in India’s green cover.

Options :

1. ¥ ACBD
2. % ACDB
3. % ADBC
4. % ADCB

Question Number : 140 Question Id : 92775913738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Paradise
Options :

1. # Islands
2. ¥ Heaven
3. # Delight
4. # Kingdom

Question Number : 140 Question Id : 92775913738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Paradise
Options :



1. # Islands

2. ¥ Heaven
3. %* Delight
4. * Kingdom
General English2
Group Number : 8
Group Id : 927759530
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General English2
Section Id : 927759566
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759701
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 92775913739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Outrage
Options :

1. * Insult
2. % Scandal
3. ¥ Anger
4. % Enmity

Question Number : 141 Question Id : 92775913739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Outrage
Options :

1. % Insult
2. % Scandal
3. ¥ Anger
4. ® Enmity

Question Number : 142 Question Id : 92775913740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Sanctity
Options :

1. * Holiness
2. # Happiness

3. # (Cleanliness



4. ¥ Wickedness

Question Number : 142 Question Id : 92775913740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Sanctity
Options :

1. # Holiness

2. % Happiness
3. # Cleanliness
4. ¥ Wickedness

Question Number : 143 Question Id : 92775913741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Contentment
Options :

1. ¥ Agitation

2. # Satisfaction
3. # Enchantment
4. #* Fulfillment

Question Number : 143 Question Id : 92775913741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Contentment
Options :



1. ¥ Agitation
2. * Satisfaction

3. #* Enchantment
4. % Fulfillment

Question Number : 144 Question Id : 92775913742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Decisive

2. ¥ Livaliness

3. # Prosperity

4. # Depression

Question Number : 144 Question Id : 92775913742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Decisive

2. ¥ Livaliness

3. ® Prosperity

4. % Depression

Question Number : 145 Question Id : 92775913743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Derivation

2. # Notification



3. ¥ Reveletion

4. % Declaration

Question Number : 145 Question Id : 92775913743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Derivation

2. # Notification

3. % Reveletion

4. % Declaration

Question Number : 146 Question Id : 92775913744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. % Affiliation

2. % Imprisonment

3. # Discrimination

4. ¥ Adjournament

Question Number : 146 Question Id : 92775913744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Affiliation

2. % Imprisonment

3. # Discrimination

4. ¥ Adjournament



Question Number : 147 Question Id : 92775913745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. % Certificaetion

2. # Hibernation

3. % Demonstration

4. ¥ Handkerchief

Question Number : 147 Question Id : 92775913745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Certificaetion

2. % Hibernation

3. ¥ Demonstration

4. % Handkerchief

Question Number : 148 Question Id : 92775913746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

I have to set numerous alarms for the morning because I sleep like a rock every night!

Options :

1. #* To be unconscious
2. % To sleep soundly
3. ® To pretend to sleep

4. # To sleep with pauses



Question Number : 148 Question Id : 92775913746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

I have to set numerous alarms for the morning because I sleep like a rock every night!

Options :

1. % To be unconscious
2. ¥ To sleep soundly
3. % To pretend to sleep

4. # To sleep with pauses

Question Number : 149 Question Id : 92775913747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

This house seems a bit hard on the eyes after the luxurious apartment we used to live in.
Options :

1. # To be troublesome

2. # To be infected

3. ¢ Unattractive; ugly

4. # To be a burden

Question Number : 149 Question Id : 92775913747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

This house seems a bit hard on the eyes after the luxurious apartment we used to live in.
Options :

1. ¥ To be troublesome



2. * To be infected
3. % Unattractive; ugly
4. * To be a burden

Question Number : 150 Question Id : 92775913748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Have a green thumb

Options :

1. * To be new at doing something
2. % To discard things

3. # To lack manners

4. ¥ Ability to grow plants well

Question Number : 150 Question Id : 92775913748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Have a green thumb

Options :

1. ¥ To be new at doing something
2. % To discard things

3. # To lack manners

4. ¥ Ability to grow plants well

Question Number : 151 Question Id : 92775913749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.



Go like hot cakes
Options :

1. ¥ To sell very quickly
2. # To be delicious

3. % To be hard to find

4. % To lack seriousness

Question Number : 151 Question Id : 92775913749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Go like hot cakes
Options :

1. ¥ To sell very quickly
2. # To be delicious

3. % To be hard to find

4. % To lack seriousness

Question Number : 152 Question Id : 92775913750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A small group of people having control of a country, organization, or institution.
Options :

1. # Bureaucracy

2. ¥ Oligarchy

3. % Democracy

4. ¥ Monarchy

Question Number : 152 Question Id : 92775913750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A small group of people having control of a country, organization, or institution.
Options :

1. # Bureaucracy

2. ¥ Oligarchy

3. # Democracy

4. ® Monarchy

Question Number : 153 Question Id : 92775913751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Illegal entry of a building with intent to commit a crime, especially theft.
Options :

1. %* Intrusion

2. # Stratagem

3. ¥ Burglary

4. % Ballad

Question Number : 153 Question Id : 92775913751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Illegal entry of a building with intent to commit a crime, especially theft.
Options :

1. #* Intrusion

2. % Stratagem

3. ¥ Burglary

4. % Ballad



Question Number : 154 Question Id : 92775913752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The killing of a parent or other near relative.
Options :

1. % Genocide

2. % Mariticide

3. % Regicide

4. ¥ Parricide

Question Number : 154 Question Id : 92775913752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The killing of a parent or other near relative.
Options :

1. % Genocide

2. % Mariticide

3. # Regicide

4. ¥ Parricide

Question Number : 155 Question Id : 92775913753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A picture or imitation of a person in which certain striking characteristics are exaggerated in order to create a comic effect.
Options :

1. % Caricature



2. % Bohemian
3. % Calligraphy

4. # Cosmopolitan

Question Number : 155 Question Id : 92775913753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A picture or imitation of a person in which certain striking characteristics are exaggerated in order to create a comic effect.
Options :

1. ¥ Caricature

2. % Bohemian

3. # Calligraphy

4. % Cosmopolitan

Sub-Section Number : 2
Sub-Section Id : 927759702
Question Shuffling Allowed : Yes

Question Id : 92775913754 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the passage carefully and select the best answer to each question out of the given four alternatives.

Asteroids are minor planets, especially of the inner Solar System. Larger asteroids have also been called planetoids. These terms have historically
been applied to any astronomical object orbiting the Sun that did not resolve into a disc in a telescope and was not observed to have
characteristics of an active comet such as a tail. In this passage, the term "asteroid" refers to the minor planets of the inner Solar System,
including those co-orbitals with Jupiter.

There exist millions of asteroids, many the shattered remnants of planetesimals, bodies within the young Sun's solar nebula that never grew large
enough to become planets. The vast majority of known asteroids orbit within the main asteroid belt located between the orbits of Mars and
Jupiter, or are co-orbital with Jupiter (the Jupiter trojans). However, other orbital families exist with significant populations, including the near-
Earth objects. Individual asteroids are classified by their characteristic spectra, with the majority falling into three main groups: C-type, M-type,
and S-type. These were named after and are generally identified with carbon-rich, metallic, and silicate (stony) compositions, respectively.



The sizes of asteroids vary greatly; the largest, Ceres, is almost 1,000 km (600 mi) across and massive enough to qualify as a dwarf planet.
Asteroids are somewhat arbitrarily differentiated from comets and meteoroids. In the case of comets, the difference is one of composition: while
asteroids are mainly composed of minerals and rock, comets are primarily composed of dust and ice. Furthermore, asteroids formed closer to the
sun, preventing the development of cometary ice.

Sub questions

Question Number : 156 Question Id : 92775913755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The vast majority of known asteroids orbit within the main asteroid belt located between the orbits of-
Options :

1. ¥ Mars and Jupiter

2. # Jupiter and Earth

3. % Neptune and Earth

4. % Jupiter and Neptune

Question Number : 157 Question Id : 92775913756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is ‘Ceres’ according to the passage?
Options :

1. ¥ an asteroid

2. # a meteorite

3. % acomet

4. % golar nebula

Question Number : 158 Question Id : 92775913757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are classified by their characteristic spectra as C-type, M-type, and S-type?
Options :

1. ¥ asteroids

2. % dwarf planets



3. % jupiter trojans

4. # planetesimals

Question Number : 159 Question Id : 92775913758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the present science, which object or objects (if grow(s) large enough) can qualify as a planet or dwarf planet?
A. planetoids B. solar nebula C. asteroids

Options :

1. % Only A

2. % Both A and C
3. #* Both B and C
4. % All A, Band C

Question Number : 160 Question Id : 92775913759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Larger asteroids are also known as—
Options :

1. * meteoroids

2. % comets

3. ¥ planetoids

4. % gpectra

Question Id : 92775913754 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the passage carefully and select the best answer to each question out of the given four alternatives.

Asteroids are minor planets, especially of the inner Solar System. Larger asteroids have also been called planetoids. These terms have historically
been applied to any astronomical object orbiting the Sun that did not resolve into a disc in a telescope and was not observed to have
characteristics of an active comet such as a tail. In this passage, the term "asteroid" refers to the minor planets of the inner Solar System,
including those co-orbitals with Jupiter.



There exist millions of asteroids, many the shattered remnants of planetesimals, bodies within the young Sun's solar nebula that never grew large
enough to become planets. The vast majority of known asteroids orbit within the main asteroid belt located between the orbits of Mars and
Jupiter, or are co-orbital with Jupiter (the Jupiter trojans). However, other orbital families exist with significant populations, including the near-
Earth objects. Individual asteroids are classified by their characteristic spectra, with the majority falling into three main groups: C-type, M-type,
and S-type. These were named after and are generally identified with carbon-rich, metallic, and silicate (stony) compositions, respectively.

The sizes of asteroids vary greatly; the largest, Ceres, is almost 1,000 km (600 mi) across and massive enough to qualify as a dwarf planet.
Asteroids are somewhat arbitrarily differentiated from comets and meteoroids. In the case of comets, the difference is one of composition: while
asteroids are mainly composed of minerals and rock, comets are primarily composed of dust and ice. Furthermore, asteroids formed closer to the
sun, preventing the development of cometary ice.

Sub questions

Question Number : 156 Question Id : 92775913755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The vast majority of known asteroids orbit within the main asteroid belt located between the orbits of-
Options :

1. ¥ Mars and Jupiter

2. # Jupiter and Earth

3. % Neptune and Earth

4. # Jupiter and Neptune

Question Number : 157 Question Id : 92775913756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is ‘Ceres’ according to the passage?
Options :

1. ¥ an asteroid

2. # a meteorite

3. % acomet

4. % golar nebula

Question Number : 158 Question Id : 92775913757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What are classified by their characteristic spectra as C-type, M-type, and S-type?
Options :

1. ¥ asteroids

2. # dwarf planets

3. # jupiter trojans

4. # planetesimals

Question Number : 159 Question Id : 92775913758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the present science, which object or objects (if grow(s) large enough) can qualify as a planet or dwarf planet?
A. planetoids B. solar nebula C. asteroids

Options :

1. % Only A

2. % Both A and C
3. % BothBand C
4. ¥ AllA, B and C

Question Number : 160 Question Id : 92775913759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Larger asteroids are also known as—
Options :

1. # meteoroids

2. # comets

3. % planetoids

4. # gpectra

General Hindil

Group Number : 9
Group Id : 927759531



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Hindil

Section Id : 927759567

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759703

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 92775913760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFeffed ¥ 9 weg "o H HH-41 9 52

Options :

1. % 0T
2. % Ui HfYy
3. ® 3grfe Y
4. ST



Question Number : 161 Question Id : 92775913760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFfafed & @ wea Ut & BH-H 9 g2
Options :

1. % TOTGY

2. % Ui HfYy

3. ® 3grfe Y

4.« UMY

Question Number : 162 Question Id : 92775913761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FfaRad o ¥ Iwag o § SH-91 999 82
Options :

1. % gg Ay

2. % HUYRY GANY

3. % qgsilfe a

4. ¢ Tg 9u™

Question Number : 162 Question Id : 92775913761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefoRed 8 @ aagio & SH-91 99N 82
Options :

1. ® GG 9a™

2. % HHYRY JHYE

3. % Sgsille Ja™

4. ¢ T Ay

Question Number : 163 Question Id : 92775913762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFrefofed & 9 H-91 2reg g Iugd I 8T a1 7
Options :

1. ¢ 3

2. % 3ddR

3. % S{JIUMAT

4, % AHJYRUT

Question Number : 163 Question Id : 92775913762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfRId o O $19-91 Xeg "3fa" IuT 4 T a1 §
Options :

1. ¢ 3

2. % 3ddR

3. % J{QIUMAT

4, % 3{JYRUM

Question Number : 164 Question Id : 92775913763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAfafea & @ rreaRaamar feg O3 e g2
Options :

1. ® godrad I

2. ¢ fgddrdd Tl

3. % Sfdarde I3

4. % YgdrId T

Question Number : 164 Question Id : 92775913763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
=t O ¥ RaRaar f6e I3 e 87
Options :

1. % gdTEe I

2. ¢ Hfadarad Il

3. % Wfcdred I3

4. % YgdrId T

Question Number : 165 Question Id : 92775913764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR H ¥ dhad =Teg &1 I0 Pifoil-
Options :

1. % &=

2. % 3T

3. ¢ fHdH

4. % JYPR

Question Number : 165 Question Id : 92775913764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fferRad # 3 dagd <eq 1 TG HifoTT-
Options :

1. % &

2. % 3

3. ¢ fbaH

4. % JYPR

Question Number : 166 Question Id : 92775913765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frmforiaa & 9 srRfda &1 fadi we Fam 32
Options :

1. % Yfad

2. % U

3. % 3(rfad

4. ¢ fRfaq

Question Number : 166 Question Id : 92775913765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frffad & ¥ erRfRT &1 el wsg 22
Options :

1. % yfo

2. % 7Y

3. % i

4. ¢ fa_faq

Question Number : 167 Question Id : 92775913766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frfifed o 9 oH-91 Wea e o1 waigar g2

Options :

Question Number : 167 Question Id : 92775913766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrfefed o Q S19-91 oa e o1 ugfuar 82



Options :

Question Number : 168 Question Id : 92775913767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafeifa & & w.a1 fada gm gfegoi &
Options :

1. ® 3Iqld - Uald

2. % 3dd — 3dTd

3. % AU — A

4. % 3fUET—IU&T

Question Number : 168 Question Id : 92775913767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pt & 4 @21 R g gl &2
Options :

1. # 3fIqTH —YaH

2. % 3dd — AdId

3. % UG — APl

4. % 3U&T —JU&T

Question Number : 169 Question Id : 92775913768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ao © 9 foT U a1 & ol U Wieg, &1 994 Sifoe-



Tg I o 3R-UR T oI o'
Options :

1. % gRa=i

2. % fpeaxf

3. ¢ gRaxff

4. % 3ORGHf

Question Number : 169 Question Id : 92775913768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAferaa # ¥ fou U a1 & ol U X1eg &1 9 SifoTe-
T I oI 3MR-UR /T ST T

Options :

1. % graxf
2. % fpeexf
3. ¢ ORERH
4. % 3R

Question Number : 170 Question Id : 92775913769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ao B & faw e Sree-gm & wet o Ne &1 79 I

Options :

1. ¢ IIG BT - Yol
2. % gRYTYT - faaH
3. % Wii® - Sa
4. % oI - 3T



Question Number : 170 Question Id : 92775913769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmferad & O fau 7T Wreg-gm & 98 o2 &1 99 HifoTe-

Options :

1. ¢ GIG BT - Yol
2. % gRHTYT - faaw
3. % W@ii® - AT
4. ® T - 3T

Question Number : 171 Question Id : 92775913770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=feRad & O 1[G aa- aTel X1eq BT 99 BHifoTd-
Options :

1. # 3ffiyeD

2. ¢ JPBR

3. % S

4. % 3fgTferep

Question Number : 171 Question Id : 92775913770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fferRad H ¥ 3R acii! a7l X[6G 1 II BHIToTE-
Options :

1. % 3ffYSH

2. ¢ AHBR

3. % STRId

4. % JSTieIeh]




Question Number : 172 Question Id : 92775913771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEforiad # O SrEvTd/ 99T e BT Ig HIfoTL-
Options :

1. ¢

2. % ¥R

3. % dR

4. % 8

Question Number : 172 Question Id : 92775913771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAefeRaT o 9§ SRETa/ 9 RTeg &1 Ig- Hifoid-
Options :

1. ¢ e

2. % ¥R

3. % dR

4. % (A

Question Number : 173 Question Id : 92775913772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefRad & ¥ Sudad e &1 Tg BT
NIERE] 30T U g foba|

Options :

1. ¥ Tgayde
2. % YYD
3. % gAgdD



4. % TEarquf

Question Number : 173 Question Id : 92775913772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=faRad & I SWiad Xeg HI T PifoTL-
NIEEE] 3o el Ry fopa

Options :

1. ¥ TGAIgdD
R CRICED
3. % gAYdD
4. % THarquf

Question Number : 174 Question Id : 92775913773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFffEd & @ g ad=1 a1l Reg BT ag PIfore-
Options :

1. % Braiiar

2. % J{oHIgH

3. ¢ BITHD

4. % IRfca

Question Number : 174 Question Id : 92775913773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o ¥ 3 e aTd Xeg BT 99 HIToTE-
Options :

1. % Prailer™y

2. % 3{SHIFH




3. ¥ BRI
4. % FERfam

Question Number : 175 Question Id : 92775913774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEffed O T Tieg & Y U D1 I PIfoTT-
Options :

1. % ISR

2. ¢ GRITRR

3. % iR

4. % YRR

Question Number : 175 Question Id : 92775913774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=R O 9 2reg & Yg T b1 TG Piforl-
Options :

1. % gIUgR

2. ¢ GRIMR

3. % iR

4. % YR

Question Number : 176 Question Id : 92775913775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RrERie #9191 g 2
Options :

1. % g

2. % Iar

3. % fg1



4. ¢ HUC

Question Number : 176 Question Id : 92775913775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfRId o O ®19-91 Teg e g7
Options :

1. % dig

2. % Jarl

3. % fg1

4. ¥ dUC

Question Number : 177 Question Id : 92775913776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEAfRId o ¥ $19-91 Weg Thddd el 62
Options :

1.« 10T

2. % HIdl

3. % ISPl

4. % fHdE

Question Number : 177 Question Id : 92775913776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfIREd & & -9 ¥eg UhaaH gl 67
Options :

1.« Y10

2. % HIdT

3. % ASPI

4. % fbdE




Question Number : 178 Question Id : 92775913777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfIRId & ¥ SH-91 a1 3= YddTd &1 Ta 67
Options :

1. % HTord a9 3 R TR g

2. % mHHar 3 TR Ia1 ]

3. ¥ AHY A & 98 Ugd MBA faar |

4. % gig 3nft onft e g

Question Number : 178 Question Id : 92775913777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fafead § @ SH-91 a9 = YdhTd &1 78l 82
Options :

1. % Hod 99 3t R T B

2. % HyHar 3t W 33T B

3.« B &1 98 T MBA fobar T

4. % i anft snft e g1

Question Number : 179 Question Id : 92775913778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fr=feRed & A H-97 a1y HIgaT &1 IEeRU ¢ 2

Options :

1. % 3{FUT 3T U |

2. ¢ EU Y A I g1 Ul S|
3. % 30 gRIUgHI \TIICII%I

4. % RZUIUSAT B




Question Number : 179 Question Id : 92775913778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfRId o ¥ D19-91 9T HTIaT BT IaTERUI 6 2

Options :

1. % 3RSUT 3T U |

2. ¢ B0 Y A I g1 Ugl S|
3. % 3[FUI GRI YT a8

4. % RSV USAT B

Question Number : 180 Question Id : 92775913779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

" ged TG ¥ W TE ¢ 1" a1 H FfaRad o § fg dRe &1 v fasar mam g2
Options :

1. ¢ HIV DRP

2. % GUGH HRPB

3. ® 3H{YPHIU HRD

4. % JdY HRB

Question Number : 180 Question Id : 92775913779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

" g TG ¥ WA 3E § 1" AT § FfaRad § § f5a dRe &1 v fosan T g2
Options :

1. ¥ DOV DRD

2. % JUQH HRP

3. % YA HRb

4. % JdY HRP



General Hindi2

Group Number : 10

Group Id : 927759532

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Hindi2

Section Id : 927759568

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759704

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 92775913780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT & ¥ oRe & fbda W g2

Options :




1. ®# IR
2. % 95
3.% O
4. ¢ 3o

Question Number : 181 Question Id : 92775913780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frffed & 9 eR® & fovan U 87
Options :

1. # IR

2. % 9

3. % U

4. ¥ 3o

Question Number : 182 Question Id : 92775913781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fIRed o 9 g fhd TR &1 Ievardd Fa- 87
Options :

l. % SdH =Y

2. ¥ HYHYRY

3. ¥ JAYYRY

4. % ITH UG A T&Y

Question Number : 182 Question Id : 92775913781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrAfRed & @ "qHe ! frd UeR &1 evaas 9d-1d 67

Options :

1. % 39 IY




2. ¥ U I

3. % A YEY
4. % IaH U9 3 I Y

Question Number : 183 Question Id : 92775913782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfafed O T gg a1 &1 999 PifTt-
Options :

1. ¢ g1 HI% AT Y|

2. % TUHT THIER T 8|

3. % ¥ U S1A BT WBHRUT B P TUR B |
4. % QD Bd 8H DI SMRATZ

Question Number : 183 Question Id : 92775913782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAmferRad & ¥ Y[ 91 &1 98 BIfL-
Options :

1. ¥ G8I BB arT Y|

2. % ATUHT THER Y 3|

3. % T 3O 91 BT WHIHRU HRA B! TR § |
4. % GBI el B DI AR5

Question Number : 184 Question Id : 92775913783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefafed o T ot & g U &1 99 DIfo-
Options :

1. % T TIMd §U ST AT HB=a B |

2. % TR TTQ GU T HOIRTRR St I |




3. % T df <1 a1 HIRIBR St I 7Td g
4.« T a1 HARHR STt B TS U T

Question Number : 184 Question Id : 92775913783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEffed O T are & g U &1 9 DIfo-
Options :

1. % B9 7ITd U ST AT HpRIa B |

2. % T TTd §T AT HIRTHR SNt Bl ¢

3. % T ) T a1 HIRIGR off &1 1T gu|

4. ¢ T A1 HISBR ST B! T T 4T

Question Number : 185 Question Id : 92775913784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfoRad § ¥ SUCRTA® 919 &1 I9 BHIfoTe-
Options :

1. % FTYTd: I8 W Ta! Ul

2. % 3HH A Ui goH STar g |

3. % Pifcrer fIeed o Iabvdl 6|

4. ¢ T[T B 3T BT YT BT A

Question Number : 185 Question Id : 92775913784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAAfaRed 7 9 SUCRITHS a1 &1 Ig HifoTu-

Options :

1. % JRad: 98 dIC gl g
2. % 3HH (g Ui gH ST g |
3. % Sifora faenad ST 9l g




4. ¥ 1[5 &1 3R BT T A1 5T

Question Number : 186 Question Id : 92775913785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feferfed # @ s a1 1 T BifoTe-
Options :

1. % 93 SATd UG 3 HeToiH Y|

2. % §1¢ H B3 AN &b 98 oI BI AR

3. ¢ Tl e iR Fadld ot foaRYRT Tt SIS
4. % T MUY e U= ga|

Question Number : 186 Question Id : 92775913785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frferiad # @ 3rgL aTeRy T g HIfTL-
Options :

1. % Y3 ATl UG 3<ed HegTo Y|

2. % TG A &3 AN & §8 oI DI SMRHT g |

3. v ¥l g W Fadld o fqaRyRT Wt Hifv|
4. % T MUY A U= gl

Question Number : 187 Question Id : 92775913786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRrefeRerd = & aTe "T[% 1 Y BRAT AMST" B ST e BI-1 62
Options :

|. % T3 ] YA DA MR |

2. ¢ 1% BT Y BRI |

3. % 1 T® &l JHM BT 1|

4. % 3! TS BT Y B AR




Question Number : 187 Question Id : 92775913786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fRad o  a1e " &1 G AT IR T" 6T MFTATad aidd HIH-T 82
Options :

1. % TS DI U BT 18U

2. ¥ T BT Y DR |

3. % 1T DT M BT MU

4. % 3! TS D G BT AT

Question Number : 188 Question Id : 92775913787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafea § O gqerery/dieifaa yd ™R ueitd SIF &1 T 31 g2
Options :

1. % I R AN & IG 3 HAfad BT A |

2. % IAMYHR I HAT |

3. ¢ Th G O §C g% G &l JH 3|

4. % W94 g giad did o |

Question Number : 188 Question Id : 92775913787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=faied & 9 gererr/aidifad "Yd TR Ueitd SIFT * &1 o1 372 g2
Options :

1. % IR AN & 16 3 Afad BT A |

2. % JMMYBR oIS DHRAT |

3. ¥ Uh G & §1c AR G T HTHH M|

4. % Tt € e e o |




Question Number : 189 Question Id : 92775913788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfafad o @ fra qeiar &1 o e 1R TuraT safaar gt g2

Options :

3: % BT HIH DI 3R T
4. % Fgdl fafear & wR |

Question Number : 189 Question Id : 92775913788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frforaa &  forg getar o1 31 e WReg TuraT s gt 32
Options :

1. ¢ TGSl BT AT

2. % 3l BT AR

3. % GIY DI I SR T

4. % Il ff$ar & wR =

Question Number : 190 Question Id : 92775913789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfied o 9 for gerak &1 o 3rafties vd 8191 §idl 82
Options :

1. * IR G I

2. % UIg SFTHR I

3. % I S A T

4. ¢ 4l b 1 S|

Question Number : 190 Question Id : 92775913789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fr=ferfaa § O fog gerak o1 o »arufies v g1 BlaT /2
Options :

1. % IR FIg I

2. % GIg gIH AT

3. % o9 P A T

4.« 9t & SR ST

Question Number : 191 Question Id : 92775913790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rreferad & R a1 @1 ol »oro= ST @ 916 1 a1 ST €l &2
Options :

1. % Y HIH B R 1, Ug ford &l BRI 37|

2. % gHER faRaM & gid di urd|

3. ¢ g IR IR P! g

4. % g ol ot s it B il quHseg |

Question Number : 191 Question Id : 92775913790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad 7 9 feg Aieifad o1 sidf 31Ut SieeTd T 18R &1 91d 811" 8idT 82
Options :

1. % BTY HI DI R 1, Ug ford DI BIRYUT |

2. % B8R fSRaM & gId dieH urd |

3. ¢ 4 Yg 3R TR FI ad|

4. % g3 i d1 58 i, |ic fil QuHsIaR |

Question Number : 192 Question Id : 92775913791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fFfRId o O epifad "dTT =1 STo g1 T T 37 B2

Options :

1. % ORI &1 I BT 3BT R I8! o1 T |
2. ¢ 3BT SHTGH! SATGT ST §lvdl 6|

3. % IR Yhe A oRT Tt TgrIdl 8t HTh1 gl 7
4. # gfaqere faord gar g

Question Number : 192 Question Id : 92775913791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfiRad & & arepifaa i 71 1o =T &1 R 3 g2
Options :

1. % U B a¥g BT 3BT R0 Ta! ¢ i |

2. ¢ 3BT SATGH! ATGT ST glvdl 8|

3. % IR Yhe A ORI It gl 81 HTh1 gl 5

4. % faameh oo g1 |

Question Number : 193 Question Id : 92775913792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I few ¢ areu # feferaa 7 @ fa fas o1 yan far manr g2
SRIT A HRd H UGS, IR, 7141, Wd, SHRA, 3fc ool ¢! Tl

Options :

1. ¢ 3eq favy
2. % 3g forH

3. % UTe(od gad
4. % faRur fag

Question Number : 193 Question Id : 92775913792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

= few 7 arew | Frefeiad & @ fe o &1 i fear man g
SR A YR § UGTS, 3R, 7al, |d, ARG, 3fe diof ¢t ol

Options :
1. ¢ 3fcg [
2. % 3fg formw

3. % Uelad g
4. % fqRur fag

Question Number : 194 Question Id : 92775913793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forlt Bt Bl g3 91 B! I IRE Udhe B & forg Fmfafad o 9 forg foreg &1 v farar sirar 82
Options :

1. % guifeR™ g

2. % Argafar™ fg

K SCACE

4. ¢ ARV fag

Question Number : 194 Question Id : 92775913793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot B Bl g3 d1d B! I RS Udhe B o o8 FfaRad 7 4 ford faeg &1 wainT fava i 82

Options :

1. ® guifaR™ g

2. % drgafar™ s
3. % gl fag
4. ¥ AR U5




Question Number : 195 Question Id : 92775913794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i g ma ; Rifsan Tgea @it iR wua R Ty
S a1 | fFfafad 7 9 forg fawg &1 uainT fosar man g2

Options :

1. % 37y favy
2. ¢ 3 faRM™
3. % JUfaH

4. % QN g

Question Number : 195 Question Id : 92775913794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aifea g1 ; fafsan Tgen @it oik wHa e e
Sudad gt # fmfafad o 9 fory fomg &1 vaiT fovan g2

Options :

1. % 3fcy form

2. ¢ 31 fRm

3. % JUIGH

4. % O fag

Sub-Section Number : 2

Sub-Section Id : 927759705
Question Shuffling Allowed : Yes

Question Id : 92775913795 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

T 1T TTRIiRT BT ATYd s Sfeae R Ut & ITR TT-
YR BT AU HRA B U JUY, FHISIATG], GHfRue, Al TR 9iffd &dl § | HRd Uh didbdize TR g, oyt




feaTE® NG aeeiiex AdH ] WHed JoTTel gRT FTerd 8 | HRd B TR S i o Sf=iiid Iara oiTdl g, o $aR
TR R H% WBHR 3R IT TR TR I BN g | % AR I WBRI & d1d Afdad! BT §CaRT AU H & T8 TURET & YR T

&1 T B URT H 29 o8 3R 7 H5-RMRYd T 3 | P MR U= H, RIFG T B 701 B gorl § HH Qi U giedl g | HRd
BT RBRI erd, FoTTH g Ial & a1 H el T2ad €, 39 AR IR Se-TH (AfH-Ted) Hel SfidT 8T 8, TR 1990 & P &
oA, 3 3R TS Sgaral & HRU 395! Tuwar FR-4R 3R 3ifere ety (@reza) gidt ST E 3|

D XM H i T 3417 §: ~qUTIerehT, ST SR HaRITUST | HaRITUSRT TG B HEd 6, oD &l UG 5 STAGT IoTqHT,
YT IISIURYG R TG AHTUT | ISTTHT H 245 TR BId & old(h ADHIHT H 545 TG BId & | ASTTHT Tdh RIS UG ¢ 3R 3D
e &1 14, udel fafer T ¢ auf & ford g g | ASTTHT & TeTaR Y| BT IG- Tl Bl [AUaHTeT & Tl gRT fara ST g,
3R T® g% aY o9 THT & T 8Ts Yo UGHI 8l ol ¢ | AHaHT & 543 T &1 g9 gae fafy 9, 5 auf ot s@afy & o s
gTal & H1eH Y a1 S & o 18 a9 ¥ 31fieh 39 o It R ANTRS HGH B Fohd ¢ | 3D Fardl 2 JE& I APufd Tal-
30T IHGR | 9 AT HR ¥hd ¢, Al I8 TG 9e H 0 U ¥ Ui =1 o1 91 51|

HIIUTTTBT & - 3T § — IFUfd, SIRIFURT SR HEwHS | Ayufcl, S Y BT UqE &, B! YHST ISR SIFHS gl 81 3D aicl §
AU &1 SffGaHRT, TRATad B! ([A8d) TR U TgAfd ST iR S{eATGRT SIRT BT T g | 98 HRATA Y137t o1 G IIfel
i 8T 81 Ul 8k DI TP U AAGH (A gRT 5 T o o8 AT ST § | TUTH IRPR BT TIE § 3R BRIUTICIST bl
IR} il I & U Bl & | SHBT G Joiiad gried! a1 Tea=A o gRT Ude fafd J T9g & 9gHd U - R 8ldT & | 9gHd a4
e @ fufa o st wrfeTd 5 auf &1 81T 8 | Tfaur # ford Su-guHEt &1 Urae™ 78] § IR YHI-HY IR 3949 Becd gial 38T g
HEHEd &1 UgE YUHEE] 811 8 | HRHSa & U Wil &1 U¥e &1 Y g R g | SR T & SuRar! gl &, 3R
TYTHAT 3R IThT HAATSH s THT H dgHd & JHdT & STYR WR g1 301 Had H o+ 3§ 9dhd ol

Sub questions

Question Number : 196 Question Id : 92775913796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrofaRea # 3 Sudad ey &1 3fd 2is @ e
Options :

1. % fgeHIcTe Sucr yurat

2. % YT

3. % AIBYHT

4. ¢ YR Gfaur

Question Number : 197 Question Id : 92775913797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

feu e fasedt & & Iufad TR H vged <Tal-sioea o1 @ ol g2

Options :
1. % U forelt cafad ol AT ot €, S gd & YR H X8 91 81 91 Big &N Jaol JRITUTH a1 &1 1 8, I8 Xee 3d ¥ I fafexr a &
foTg ST foran ST g |

2. % 3 HfGadl I {1 Sl 7, S UT: GO 91 & 81, U8 Weg T- U I =41 Al & fore IuaT fasan siran g |

3. ¢ T ot safdd &1 AT 1T &, S YR H 8T 81 3R oryent fUdT a1 is T gaol JRITUEH a1 & g, I8 Xea I3 © 0 3 faifewr
TN o fore STt o STraT 8,1 for URd & 18 &1 3@ 81 3R YR 5 & & |

4. % U forsit safad I g1 T o1l &, S HRd H XgaT1 81 1R forast fUdT a1 H1g Iy Ydsl RIUT a2 & 81, 98 Wed T ©U
3{PIc! ARl & foTe I o STTaT g |

Question Number : 198 Question Id : 92775913798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JURIG TR o STHR ST & TGIIR ! DT I ] bl & Tl gRI fHar Srar g
Options :

1. % B3I

2. % TGS

3. ® SYUrd

4. fayrgUTSdi

Question Number : 199 Question Id : 92775913799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRIad T & Yo & fFAAfeied o 9 eF-91 Hy= I8! 78t 82

Options :

1. ¢ G P I T & IoTaHT 3R IuuREe |

2. % g URIT U= H, RAFR U= &1 I3} &t Jorq1 & S et U gt 8
3. % PUfd SR IWIPURA B Teh U HaH fAfd gRT 5 a8 & o g1 S g1
4. % HRIUIAST & i 31T ¢ — JFUF, SIRTFUTA 3R HFHS|

Question Number : 200 Question Id : 92775913800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fferRad # @ SuRie i H WYad Weg “SgHd o faaiiA s Farsd |
Options :

1. % gfaend

2. % gRUMH

3. % 34N

4. ¢ 3qHd

Question Id : 92775913795 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

o T T BT EFYd® S B sl b IR e

YR BT HAUH HRA PI T TUY, FHISIATG!], YHARUE, Al TR "Itd ®3dl § | HRd U diddie RN §, fora!
eI UG aee iR AcH ] THed JuTel gRT GaTerd & | HRd B TR Seig g & 3=id Iama SiTdl g, fordd $aR
TR R g WHR 3R Iod TR TR U WBR &1 g 3R I THRI & S YfGdl BT seaRT Gy H & 75 UGN B YR W)

& | I H HRd H 29 T 3R 7 Hg-RMRId U1 | g ARIT YR H, RIF YR 1 AU B o1 H HH Afckadi Uit ghelt 8 | HRd
BT RGN 11, aH g T8 Bt Ja1 & ST I 7, IV AHAR W - Te (QfH-BSe) Hel a1 6T 8, W 1990 b G2b &b
Iofae, 3nffes MR i Searal & BRI sT®! wuvar fR-4R 3R ifde g (Bea) gidl 16 8|

2% M | 9 YT 3T §: uIferes!, HriuTiereT 3R eI | RIS TG &I Had &, foTd &l Yo & SIG JISaH,
YT TIURYE 3R FAETET AGTHT | ISTTHT H 245 TS BId & Taib AU H 545 TS BId § | ISTTHT U TS e § 3R 39
el &1 914, Uel fafer I ¢ auf & o gidT g | ASTTHT & TTeTaR S| BT 99 It 1 [T & Tl gRT fohdT SfTdT g,
3R UAP AR T T GHT & T 8T8 Y UeHed 81 SIld & | el & 543 Tew! ol g1 uoaes fafd 4, 5 auf &t 3afy & ford s
gATd! & HIEH a1 S 3 ford 18 9V 9 3ifiieh 39 & aHl HRGIg AR HdaM R Gabd g | 9P 311 2 Haw! Bl Agafd Tell-
30T Ugar | ¥ A1id o I&d &, fe I8 IYa 496 1 7aid ¥ U 9 Ui =1 o1 91 31|

HIIUTTDT & it ST § — IPUfd, ITIYUF SR HEHSa | Iyufd, Sl Y BT UG &, B HHDT SR SIS gl 51 9P el |
faem &1 ifieafademur, TRaTfad B! ([A8gd) TR 3ot Tefd ST 3R S{eaTeRT TR -1 U & | 98 YR -13f o7 g -mafd
i 8l g1 JIFUfd SR DI TH YT AdGM Al gRT 5 T8 & 18 AT o1l § | TUTTH1 TRBR BT UHE & 3R BRI Bt
IR Wfaar S & U BidlT € | SHHBT GG o uTted a1 Tea=H & gR1 Iae fafd & ¥ae & 9gAd U 1 W 8id1 8| §gHd a4
g & FRUFT & 39T HRiwTd 5 a8l o1 8idT & | Iy H fhd) Su-gum=H=t &7 Urae= T8t g IR JHI-G7Y IR 391 Bhded sl 1 g |
HEHSd &1 T YUHHET 81dT1 8 | HEHSd & U Tl & Uue &1 9aw g1 3ifHar g | HIAUTieid] I9e & SRar gldl g, 3R

T 3R SHT HAHUSH A THT & 9gHd & T & YR W &l 30 Hrafad § - 38 Iahd g |




Sub questions

Question Number : 196 Question Id : 92775913796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed & @ Sfad e &1 Sfed 2fie @1 g?
Options :

1. % fgeTers Iuey gome

2. % ISOHHT

3. % AIBHH

4. ¢ YR FfaY™

Question Number : 197 Question Id : 92775913797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few e et & 9 Iudad TerRr B wgad “Ural-siosa o ot orf 82

Options :

1. % U foreit cufad ! AT o €, S gd & YR H I8 g1 81 I1 Pig G Yool JRIUTH a1 &1 9 81, I8 Xeg T30 ¥4 I fafewr df &
forg Iy fopar STar 8|

2. % 39 G| I AT I &, S W GO I & 81, T8 Wea G- U I &I ANl o [ SUINT fhar S g |

3. ¢ T ot safdad &t AT ST &, S YR § 8T 81 3R Foryest fdT a1 18 T gasl JRIMUEH 321 & g, I8 Xee 130 © 0 3 fafewr
AT o T SUNT o 1Tl 6,511 o HIRA & 1 &R Xg 81 3R YR d & il

4. % U forat cafad I T&l /1 oI &, S YR | 84T 81 3R fSree! fUar a1 #18 4o Yol PRITUE 621 & 81, 98 e T U I
3{THTHT AR b forg ITNT o ST |

Question Number : 198 Question Id : 92775913798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRIG T b TR IASTTHT o TTGIIR G| BT I8+ | bl & e gRI forar S |
Options :

1. % TIHIHISH




2. % gy
3, % Ut
4. « fyrryme

Question Number : 199 Question Id : 92775913799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR TeiY & G & FEfiiad & 9 o 19-91 sy 98! T8l 22

Options :

1. ¢ TE & &l Y& ¢ JoaaHT 3R IsTuRug |

2. % g MR TR H, R U &1 9] &1 a1 § HH et T gicll g
3. % JPURT SR IWIFU B Th U HAGH (A §RT 5 IV o ford AT A1l 5
4, % HRIUIIST & i 37 § — AFUF, SRIFUTA 3R HFHS

Question Number : 200 Question Id : 92775913800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frEfaied o O SIRied T § TR TMeg “qgHd” &1 fadd g aarsd|
Options :

1. % gfaes

2. % gRUMH

3. % 3YH

4. ¢ 3JHd



